e
7 ]
[=] ;5%

1A1

Quality and Innovation

ICS(P)A Cartesian Robot

Assembly Procedures Fifth Edition

Thank you for purchasing an IAl product.
Assemble your product correctly by referring to this Assembly Procedures.

Be sure to read the operation manual (CD/DVD) supplied separately for each
actuator and handle the actuator correctly.

No. Number of Mounting method Wiring method/type Model Drawing No. Drawing No.
configured axes Between X-axis and Y-axis | Between Y-axis and Z-axis | Between X-axis and Z-axis | Between Y-axis and ZR-axis Completed Drawing List | Assembly Procedures
1 2 axes Y-axis base Self-supporting cable - - - ICS(P)A2-BOOMO-SC GMMO09-001(1/2) GMMO08-003
2 2 axes Y-axis base Cable track - - - ICS(P)A2-BOOO-CT GMMO09-001(1/2) GMMO08-004
3 2 axes Gantry Cable track - - - ICS(P)A2-GOOO-CT GMMO09-001(1/2) GMMO08-005
4 2 axes Y-axis slider Self-supporting cable - - - ICS(P)A2-SOO0O-SC GMMO09-001(1/2) GMMO08-006
5 2 axes Y-axis slider - Self-supporting cable - - ICS(P)A2-YOOO-SC GMMO09-001(1/2) GMMO08-007
6 2 axes Z-axis base - - Cable track - ICS(P)A2-zOOO-CT GMMO09-001(1/2) GMMO08-008
7 3 axes X-Y base, Z-axis base Cable track Cable track - - ICS(P)A3-BOOOBOO-CT-CT GMMO09-001(2/2) GMMO08-009
8 3 axes X-Y base, Z-axis base Cable track Self-supporting cable - - ICS(P)A3-BOOOBOMO-CT-SC GMMO09-001(2/2) GMMO08-010
9 3 axes X-Y base, Z-axis base Self-supporting cable Self-supporting cable - - ICS(P)A3-BOOOBONO-SC-SC GMMO09-001(2/2) GMMO08-011
10 3 axes X-Y base, Z-axis slider Self-supporting cable Self-supporting cable - - ICS(P)A3-BOOOSOO-SC-SC GMMO09-001(2/2) GMMO08-012
11 3 axes X-Y gantry, Z-axis base Cable track Cable track - - ICS(P)A3-GOOOBOO-CT-CT GMMO09-001(2/2) GMMO08-013
12 3 axes X-Y gantry, Z-axis slider Cable track Cable track Self-supporting cable - ICS(P)A3-GOOOSOO-CT-SC GMMO09-001(2/2) GMMO08-014
13 2 axes Y-axis base Cable track - ICS(P)A2-B ogo-cT GMMO09-001(3/3) GMMO09-002
14 4 axes Y-axis mount Cable track Cable track ICS(P)A4-BOOHZRO-CT-CT GMMO09-001(3/3) GMMO09-003
15 |Instruction for Cable Track Type Wiring GMM12-001

Catalog No.: ME0215-5A




1 ICS(P)A2—BOOO—SC XYB (X-axis Base Mount)
Self-supporting Cable Specification

(Model)
ICS(P)A2-BOOO-SC
H: High speed
M: Medium speed
Configuration direction
X-axis Y-axis
A:SXM+SYM [Assembled parts]
B:MXM+SYM
C:MXM+MYM R )
D:MXMX+MYM oS @ o
E:LXM+MYM &
E-LXMX+MYM [ x-Ybracket ]  [[2]Box cover]  [[3] Connector box (small) ]
[Configuration directions] s f /\
- b
altim ol [14] Connector box (large) | [[5] Bracket cover | [[6] Grommet with film ]
[ ¥
1 s
G, Y
| | (Reverse of type 1) K 0 ( i
[[71 Cable fix cap]  [[8] Joint cover |
T — i
| -
éz::;ﬁ::::(!)e = 1 FReverse of type ) cable assembly
[Assembly Procedure] Drawing No.: GMM08-003

4 ICS(P)A2—SO00 XYS (Y-axis Slider Mount)

Self-supporting Cable Specification

(Model)
ICS(P)A2-SOOO-SC

H: High speed
M: Medium speed

Configuration directjon=<~ E:
Iy 173 P

A P @ &

[[1X-Ybracket] [[2]Box cover] [[3] Connector box (small)]

©

€ 2 .‘,}
[14] Connector box (large) | [[5] Bracket cover ] [[6] Grommet with film |

[Assembled parts]

X-axis Y-axis
ASXN+SZM

1C:MXM(100W)+MYM(100W)

2C:MXM(200W)+MYM(200W) ) A
G:ILXM+LYM A /

[Configuration directions]

R @ ~ I

[[71 Cable fix cap]  [[8] Joint cover |  [[8] Mounting bracket]

i i
| |
} [Combination ]
[ cirection: 2 |
I |
| |
|

I
Hl Combination [
[ ircction: 1

i
| (Operation range)
1

(Reverse of 1)
(Operation range)

""""" i

Combination| 1]
[10] Self-supporting
cable assembly

(Reverse of 1)
[Assembly Procedure]

|
1

N Combination
[ i vcction: 3
| (¥=2xis installed on
| ;

(Operation range)

Drawing No.: GMMQ8-006

ICS(P)A Cartesian Robot — Completed Drawings

Drawing No.

GMM09-001 1/9

2 ICS(P)A2—BOOO—CT XYB (Y-axis Base Mount)

Cable Track Specification

(Model)
ICS(P)A2-BOO0O-CT

(- H: High speed
M: Medium speed

[Assembled parts]

Configuration directioni™

X-axis Y-axis B T~ @

A:SXM+SYM
B:MXM+SYM
C:MXM+MYM
D:MXMX+MYM
E:LXM+MYM
FLXMX+MYM

[ [1]X-Y bracket | [[21Box cover|  [[3] Connector box |

a

[[15] Joint cover | []6] Bracket cover |

BA type onl
[Configuration directions]
G
: i & '

M ED ¥l 7 G;;”;g"eég’i‘;‘ film | (8] Cable fix cap] [ [9] Guide rail |

g
Type 1 Type 2 ? 1 :
(Reverse of type 1) S S I |
| I
& ‘ !
e I
_ w i
" i I
(m f [10] Cable track " :
| ) f I [i21, 131, [5] and [9] are |
I |assembled before the
Type 3 | 5 I
Type 4 I |shipment.
(Y-axis installed on § | | e .I
opposite side) 1 il of type 3)

[Assembly Procedure]  Drawing No.: GMMO08-004

5 ICS(P)A2—YDOOO YZ (Y-axis Slider Mount)

(Model)

ICS(P)A2-YODO-SC
H: High speed
M: Medium speed

Y-axis Z-axis
ASYM+SZM
C:MYM+MZM
G:LYM+LZM

[Assembled parts]

o &

[ [ X-Y bracket ]

[[21Box cover|  [[3] Connector box (small) |

[Configuration directions]

?‘*\‘\ ﬂ; [ [4] Connector box (large) | [[5] Grommet with film] [[6] Cable fix cap |
= i
[[71 Joint cover ] [18] Box spacer | '
H b
A

# _[9] Self-supporting

j PPPIPIISs cable assembl

i

[Assembly Procedure] Drawing No.: GMM08-007

ICS(P)A2—GOOO XYG (Gantry) Type
Cable Track Specification

[Assembled parts]

(Model)
ICS(P)A2-GOOO-CT

[ATX-Y bracket (1)] [[21X-Y bracket |  [[3] Pin bracket]

H: High speed

X-axis Y-axis
1JLXUWX+MXM
2J:LXUWX+MXMX

[[5] Mounting bracket] [ [6] Guide rail ]

; =
[Configuration directions] Q/ @J /

[[71 Connector box (small)] [[8] Box cover] [[9] Joint cover |

&=

[ [10] Connector box (large) ] [[11] Cable track | [[12] Grommet with film]

@ N\ A
’ "

[(13] Cable fix cap] [[14] Packing frame] !

Aable track assembly

[15], 6] and [11] are assembled before the shipment.]

[Assembly Procedure] Drawing No.: GMMO08-005

(Model)
ICS(P)A2-ZO0O-CT
H: High speed
M: Medium speed

X-axis Y-axis

2 /
Al SXM+SZM @ = ; - L
# >

1C:MXM(100W)+MZM(100W) "\ Q,///
2C:MXM(200W )}+MZM(200W) [[1]1X-Y bracket ] [[2] Box cover] | [3] Connector [3] Connector |

D: MXMX+MZM box (large) box (small)

G: LXM+LZM

H: LXMX+LZM

S % =)

[6] Grommet with film
[ [4] Joint cover |  [[5] Mounting bracket] (230, @34)

[Configuration directions]

(s
.-_4; {)

[[71 Cable fix cap] [[8] Guide rail | [ [9] Cable track ]

[6], [9] and [10] are assembled
before the shipment.

[Assembly Procedure] Drawing No.: GMMO08-008




ICS(P)A Cartesian Robot — Completed Drawings

Drawing No. | GMM09-001 2/9

7 ICS(P)A3-BOOOBOO-CT-CT 8 ICS(P)A3-BOOOBLO-CT-SC 9 ICS(P)A3-BOOOBOO-SC-SC
X-Y Base Mount (XYB) + Z-axis, Z-axis Base Mount X-Y Base Mount (XYB) + Z-axis, Z-axis Base Mount X-Y Base Mount (XYB) + Z-axis, Z-axis Base Mount

(Model)
ICS(P)A3-BOOOBOMO-SC-SC

(Model)
ICS(P)A3-BOO0OBOO-CT-SC

(Model)
ICsBOO-CTP)A2-BO0O0O -CT

H: High speed H: High speed H: High speed
: M: Medi d M: Medium speed
M: Medium speed % edium spee 5
_axi Z-axis
Z-axis _Z axis 1:SXM(EOW) 5,
1:SXM(BOW) 1:SXM(6OW) [Assembled parts] - 2:MXM(100W) . : [Assembled parts]
i 2:MXM(100W) H: High speed =z
Configuration Z:MXM(WUDW) H:legh.Speed p b M: Medium 3ZMXM(2QDW) > -
direction 3:MXM(200W) [Assembled parts] gﬁe’\élzdlum 3:MXM(200W) AR speed A i )
; : oot <« R ¢ A = Configuration direction Y o ~
Xoaxis Y-axis Configuration direction 3 [> [:/ Q/ > : L:‘/ Q/
— A:SXM+SYM 2 Z7 5 . X-axis Y-axis
’ X-axis Y-axis 1] X-Y bracket | | [2] Y-Z bracket [3] Connector [4] Connector 1] X-Y bracket | [ [2] Y-Z bracket [3] Connector [4] Connector
B:MXM+SYM Q Q/ Q/ A-SXMESYM 0 | (2 racket | | box (large box (medium) ASXM+SYM (o (2 racet | | box (large box (medium)
C:MXM+MYM = B:MXM+SYM 5 B:MXM+3YM A~ A
D:MXMX+MYM [ X-Y bracket ] [[2] V- bracket | | 18] Cornector | [ 4] Connecor iy Q}// / ) & C:MXM+MYM Q; @ s .
0X (large 0X (medium . o - - ,
E:LXM+MYM y D:MXMX+MYM
D:MXMX+MYM Tomt T Jomt BT Jomnt 7 [5] Connector | [ [6] Box cover
FLLXMXHWIYM éy 2 4 p ELXNHMYM ElConrecsr | [oovartame)] [ neaumy | [ tomens ] E-LXM+MYM o amaty | HABexeover] [ TR [Tz
ke F-LXMX+MYM F:LXMX+MYM :
) . . . [5] Connector - . . N f ¢ X . i . (5
[Configuration directions] m cov@r(large)l M| [P fomas ] [Configuration directions] @ ( ‘ (‘S @ [Configuration directions] Z [ @ (-‘ffff
= & - 5 B — o = g - A
= it - / . "% f ct sl o [ 191 Box cover | [[10] Bracket cover][ [11] Grommet |[[12] Cable fix cap] 1[& f Joint cover|[[10] Bracket cover][ [11] Grommet |[12] Cable fix cap)
I ( -
=1 1| { (W) Lo —— | — with film ‘ ( (small) with film
o ~
[19] Box cover | [[10] Brackel cover][ [11] Grommet ||[12] Cable fix cap| e ﬁ
| (Reverse of type 1) with film ! (Reverse of type 1) 1l (Reverse of type 1)
{ - ! ' |
) ey %
Guide rail : .
i — rountng bracket = T
b P> Connector box Ir) ™ i | { " {
o ; Cahietane i : -
ype Y 15] Self-supporting cable assembly (2 I x i
Type 4 The ab rts - Type 3 | [15] pporting y (2) | i il § Type 4 [14] Self-supporting [15] Self supporting
e | [eveeotiee supplied a5 3 et~ Yo el | ey e | . [ S Sssomony (17| | Cabi sscamoy (3
. [Assembly Procedure] Drawing No.: GMM08-009 [Assembly Procedure] Drawing No.: GMM08-010 [Assembly Procedure]  Drawing No.: GMMO08-011

M: Medium speed '\ﬁ Ef" Z-axis  Z-axis [Assembled parts]
H: High speed =~ H: H|gh speed

M: Medium speed M: Medium speed i~
L: Low speed L: Low speed

[Assembled parts]
Z-axis

[Assembled parts]
1:SXM(B0W)

BMXM(200W) (5 ﬁ/

H: High speed -~ 5 . . ~ .
Z-axis N 2> Z-axis o :
1:SXM(80W) [[11X-Y bracket (1)][[2] X-Y bracket (2)][[3] Pin bracket][[4] Spacer]

2:MXM(100W)

M: Medium &

speed Ry L 2 P
Configuration direction Q > | [‘\s/ Q/

[ [1] X-Y bracket | [[[2] Y-Z bracket | | [3] Connector [4] Connector

1:SZM(E0W) [ bracket (1][2LX-Y bracket (2)[[3] Pin bracket][[4] Spacer]
2:MZM(100W)

3:MZM(200W)

X-axis Y-axis 3:MXM(200W)

box (large box (medium) . X

A:SXM+SYM L— H: High speed — H: High speed

3 2 ) 3 E 7] Mounti 8] Mount 5] Y-Z bracket [6] Mountmg [7] Mounting
B:MXM+SYM 2 / / - . [[5] Y-Z bracket | [16] Y-Z plate ] | [b]raci:?(?)g | | [b]racil;?(lg)g _ . e | | bracker ()
C:MXM+MYM a g X-axis Y-axis . : = X-axis Y-axis
D:MXMX+MYM 15 Connector [ (6] Box cover] {7 Jomt | [TBTJomt cover 1JILXUWX+MXM = > 1JLXUWX+MXM , e

b Il i > (S [ =5

E:LXM+MYM ox (S |cover (Iarge)| | (medium) | 2J:LXUW X+MXMX <~ 2J:LXUWXAMXMX /

A

FLXMX+MYM p / >, 73

o

[12] Connector
box (medium)

8] Guide rail (1)] [[9] Guide rail (2) [10] Connector [|[11] Joint cover
box (large)
[Configuration directions] @

[5] Guide rail (1)] [[70] Guide rail (2 | !} Connector
box (large)

[Configuration directions] = f ; &)

= o 9 Joint cover][[10] Bracket cover][ [11] Grommet [[12] Cable fix cap]
s ¥ (small)

[Configuration directions]

=
[[12] Box cover] [[13] Cable track |

with film

o |coazaz.:;g;>| T
box smal

(Reverse of type 1)

[17] Jomt [ [18] Cable track ||[19] Grommet with film| |
cover (small)

[13] Box support [14] Packing frame

[ [15] Self-supporting cable assembly |

1 |* Cable track assembly
| [The cable track

| lassembly is configured
ith the mounting

| [pracket and guide rail.

' | Cable track assembly
! |The cable track assembly is

! lconfigured with the mounting
i [bracket and guide rail.

il ! i A

ype 3 l [14] Self- suppomn [15] Self-supportin:
_ | Type 4 cable assembly (1? ?

=>l-::.‘:::::::=n

\(Y-axis installed on cable assembly (2

lopposite side) ! Reverse of type 3)

— - i [Assembly Procedure] Drawing No.: GMMO08-012 [Assembly Procedure] Drawing No.: GMMQ008-013 [Assembly Procedure]  Drawing No.: GMMO08-014

10 ICS(P)A3-BOOOSOO 1 ICS(P)A3-GOOOBOO-CT-CT 12 ICS(P)A3-GOOOSOO-CT-SC

X-Y Base Mount (XYB) + Z-axis, Z-axis Slider Mount X-Y Gantry Configuration (XYG) + Z-axis, Z-axis Base Mount X-Y Gantry Configuration (XYG) + Z-axis Slider Mount
(Model) (Model) - (Model)
ICS(P)A3-B000SOO-SC-SC i epoc -\ | IcS(P)A3-6O00BO0-CT-CT Y " ICS{RIASCOOMSOMCI-5E _ &5 i} ~_




13 ICS(P)A-BK,L,P,QOO-CT XYB (Y-axis Base Mount)
Cable Track Specification

(Model)

ICS(P)A2-BO00 -CT

H: High speed
M: Medium speed

Configuration
direction
X-axis  Y-axis
K:WXM(B00W)+LYM
L:WXMX(600W)+LYM
P:WXM(750W)+LYM
QWXMX(750W)+LYM

[Configuration directions]

(Reverse of type 1)

IType 3
Type 4
(V=i nsalledon

opposite side) K lReverse of type 3)

[Assembled parts]

“"".‘ ////1__;\‘
>N | O
TOES Yplatel [121X-Y bracket | [[3] Bracket cover] [ [4] Grommet |
/;m . . P
@”“ @4// N 5 S

[5] Track mountlng [ 6] Cable track | [[7] Bracket cover | | [8] Controller-
bracket actuator cable

%%%

[9] Connector | [[10] Joint cover] [[11] Box cover (large)]
box (\arge)

[[12] Guide rail (1)]  [[12] Guide rail (2)| [[13] Cable trackl

[Assembly Procedure] Drawing No.: GMM09-002

ICS(P)A Cartesian Robot — Completed Drawings

Drawing No.

GMMO09-001

3/9

14 ICS(P)A4-BOOHZRO-CT-CT XYB (Y-axis Base Mount)
Cable Track Specification

(Model)

ICS(P)A4-BOOHZRO-CT

S:ZR-S
M:ZR-M

Configuration
direction

X-axis Y-axis
B:MXM+SYM
E:.LXM+SYM

[Configuration directions]

IType 3 |
Y-axis ms(alled on

(Reverse of type 1)

fl Type 4
[Reverse of type 3)

[Assembly Procedure] Drawing No.: GMM09-003

N \}Q //=§§
: o |//
] o 7
q 2z )
e S
[[1] YXR (MXS) plate] [[[2] Box support ZRS (M) |

" [[BLCable track




ICS(P)A Cartesian Robot — Completed Drawings

Drawing No. |GMMO09-001 4/9
* Parts Used on ICS(P)A2 Combining 2 Axes
Hexagonal bolt Hexagonal socket head bolt
M6x30 | M8x35 | M3x12 | M4x6 M4x8 | M4x10 | M4x12 | M4x14 | M4x16 | M4x20 | M5x10 | MBx8 | M6x10 | M6x12 | M6x20 | M6x28 | M6x35 | M6x45 | M8x15 | M8x28 | M8x30 | M8x40 | M8x45
BA-SC 4 16 2 2 4
BA-CT 4 16 2 2 2 3 4 4 4
BB-SC 4 16 2 2 4
BB-CT 4 16 2 2 3 4 4 4
BC-SC 4 16 2 2 4
BC-CT 4 16 2 2 3 4 4 4
BD-CT 4 16 2 2 3 4 4 4
BE-SC 4 16 2 2 4
iyl 4 16 2 2 3 4 4 4
SA-SC 4 16 2 2 2 4
S1C-SC
S2C-SC 4 16 2 2 2 4
SG-SC
ZA-CT 16 2 2 4 4 8
ZC-CT
T 16 2 2 4 4 8
ZH-CT
YA-SC 4 16 2 2 4
YC-SC 4 16 2 2 4
YG-SC 4 16 2 2 4
Syl 16 4 4 4 4 6 8




ICS(P)A Cartesian Robot — Completed Drawings

Drawing No. |GMMO09-001 5/9
* Parts Used on ICS(P)A2 Combining 2 Axes
Flange-head o Flange-head
Thin-head TP sgiﬁae?ﬂggld Parallel pin vl\\flagslflmztr High-tension washer Hexagonal nut Gror’(n_ltr; i}gvé':]r)] film M8 Sgiﬁz?ﬁgild Hexagonal nut
bolt dedicated bolt
M3 x 6 M4 x 6 Maxs | o6h7x15 | 87 x 18 [PEOX D18 e M8 M4 M5 M6 C'3°'Sﬁ\'/2‘r"yA)'EP'UL et washer I ax 6 M4

BA-SC 6 4 4 2 2

BA-CT 6 4 4 2 3 8 5 * *
BB-SC 6 2 2 4 2 2

BB-CT 6 2 2 4 2 3 8 5 * *
BC-SC 6 4 4 2 2 4

BC-CT 6 4 4 2 3 8 5 4 * *
BD-CT 6 4 4 2 3 8 5 4 * *
BE-SC 6 4 4 2 2 4

BE-CT * *
BF-CT 6 4 4 2 3 8 5 4

SA-SC 6 4 4 4 4
S1C-SC
S2C-SC 6 4 4 4 4 4

SG-SC

ZA-CT 2 4 4 8 4 * *
ZC-CT

ZD-CT * *
ZG-CT 2 4 8 4 8 4

ZH-CT

YA-SC 4 4 2 3

YC-SC 4 4 2 3 4

YG-SC 4 4 2 3 4

G1J-CT * *
G2J-CT 2 4 8 8 4 6

*: Varies depending on the number of tumbler-shaped holes in the guide rail.



ICS(P)A Cartesian Robot — Completed Drawings

Drawing No. |GMMO09-001 6/9
* Parts Used on ICS(P)A3 Combining 3 Axes
Hexagonal bolt Hexagonal socket head bolt
M6x30 | M8x35 | M3x12 M4 x 6 M4 x 8 Max12 | M4x14 | MAx20 | M5x10 M6 x 8 M6x10 | M6x12 | M6x20 | M6x28 | M8x28
oS 4 24 2 2 2 12
eyl 4 24 2 4 2 2 6 8 8 2 12
s 4 24 2 2 2 12
B oAl 4 24 2 2 2 4 4 4
gl 4 24 4 4 6 8 8 2 12
B_%TB?(’:? 4 24 4 4 6 8 8 2 4 4 4
5650 4 2 2 2 2 . 4
oA 4 24 2 2 2 12
Pyl 4 24 4 4 6 8 8 2 8 4
BepAss 4 24 4 4 6 8 8 2 12
pegiel 4 24 2 2 2 3 4 4 8 4
e 4 24 2 2 2 3 4 4 12
o N R : 2 I N N :
Bo BaBs 4 24 4 4 6 8 8 2 12
aeat 4 24 2 2 2 3 4 4 8 4
oA 4 24 2 2 2 3 4 4 12
=l 4 24 4 4 6 8 8 2 8 4
B BAns 4 24 4 4 6 8 8 2 12




ICS(P)A Cartesian Robot — Completed Drawings

Drawing No. |GMMO09-001 7/9
* Parts Used on ICS(P)A3 Combining 3 Axes
Hexagonal bolt Hexagonal socket head bolt
M6 x30 | M8Bx35 | M3x 12 M4 x 6 M4 x 8 M4 x 10 M4 x 12 M4 x14 | M4x16 | M4x40 | M5x 10 M6 x 8 M6x10 | M6x12 | M6x18 | M6x20 | M6x25 | M6x28 | M6 x 35 M6 x45 | M8 x 20 M8x28 | M8x30 | M8x40 | M8 x45
o 4 | 24 | 2 2 2 3 4 4 8 4
ECS 4 | 24 | 2 2 2 3 4 4 12
s 4 | 24 | 4 4 6 8 8 2 8 4
B_E‘?_zé'f 4 24 4 4 6 8 8 2 12
_2?{_22 8 24 2 2 2 4 4
Sosc | 4| 4 || 2 2 2 4 4
Sosc | 4 | 4[| 2 2 2 4 4
B_%-g_zs{gs 8 24 2 2 2 4 4
S RERNEE S ENEN R ERENE : 4
B_%f_zs’ 23 8 24 2 2 2 3 4 4 4 4
Sosc | 4 | 4[] 2 2 2 4 4
B_l;-g_zs/gs 8 24 2 2 2 4 4
N RN : 2 BAERK 4 4
B oz 8 | 24 | 2 2 2 3 4 4 4 4
ot 24 8 8 4 4 4 4 4 10 8
CLBans 24 8 8 4 4 4 4 4 | 10 8
Sl : : AIERE AENENE ol [
Ppaes 32 8 8 4 4 4 14 8




ICS(P)A Cartesian Robot — Completed Drawings

Drawing No. |GMMO09-001 8/9
* Parts Used on ICS(P)A3 Combining 3 Axes
Flange-head o M8 Flange-head
M8 flat washer High-tension washer sgiﬁ?ﬁgj Parallel pin Hexagonal nut Gror(n_l[r; i’i{gvé':)] film dedicated Thin-head TP S';iﬁz?ﬁgzld Hexre:ng;to nal
bolt flat washer bolt
®1®88;<5t;(.6 M6 M8 M4 x 8 @6h7 x15 | @8h7 x 18 M4 M5 M6 C'3O'S?\'/2fyp;'EP'UL M3 x 6 M4 x 6 M4 x 6 M4

oS 4 2 7 6 2 6

pagl 4 7 2 6 8 6 6 * *
el 4 2 5 6 2 6

B oase 4 2 4 6 2 6

pegial 4 5 2 6 8 6 6 . .
BeBans 4 4 2 6 8 6 6 . .
el 4 2 1 6 2 4 6
P 4 4 2 6 2 8 6

pegidl 4 1 2 6 8 6 4 6 . .
B AEs 4 4 2 6 8 6 8 6 - -
peegidl 4 2 1 6 3 8 5 4 6 * *
e 4 4 2 6 3 8 5 8 6 * *
gl 4 1 2 6 8 5 4 6 * *
e 4 4 2 6 8 6 8 6 * *
s 4 2 1 6 3 8 5 4 6 - -
e oA 4 4 2 6 3 8 5 8 6 - *
gl 4 1 2 6 8 6 4 6 - -
BB 4 4 2 6 8 6 8 6 - -

*: Varies depending on the number of tumbler-shaped holes in the guide rail.




ICS(P)A Cartesian Robot — Completed Drawings

Drawing No. |GMMO09-001 9/9
* Parts Used on ICS(P)A3 Combining 3 Axes
M8 flat . . Flange-head . Grommet with film | M8 dedicated . Frlme:ar;(%e_::;d Hexagonal
washer High-tension washer hexigec;r:ja:)iﬁcket Parallel pin Hexagonal nut (Takigen) flat washer Thin-head TP SOCKE?I?ea d nut
[e]
@1@88;(5t;‘_6 M6 M8 M4 x 8 @6h7 x 15 | @8h7 x 18 M4 M5 M6 C'3O'S?\'/i‘r";)"EP'UL M3 x 6 M4 x 6 M4 x 6 M4

et 4 2 1 6 6 3 8 5 4 6 . .
ECS 4 4 2 7 6 3 8 5 8 6 * .

Pl 4 1 6 2 6 8 6 4 6 . .
Br e 4 4 7 2 6 8 6 8 6 * *

oS 8 8 4 2 6

o 4 4 6 2 4 2 6

So80 4 4 2 6 4 2 4 o
oA 8 8 4 2 8 6

sl 4 4 2 6 4 3 8 5 4 6 * .
e 8 8 4 3 8 5 8 6 » .

25210 4 4 2 6 4 2 4 6

BESAs 8 8 4 2 8 6

s 4 4 2 6 4 3 8 5 4 6 » »
Broase 8 8 4 3 8 5 8 6 . .

Pl 12 2 9 8 5 6 . .
B2 16 2 9 8 5 6 » .
PRl 12 2 6 4 8 6 6 “ .
s . | o | 2 IR L

*: Varies depending on the number of tumbler-shaped holes in the guide rail.




/I\ Caution: e Although each part has been chamfered to remove sharp edges, exercise due caution ICS(P)A Cartesian Robot, 2-axis Configuration XYB (Y-axis Base Mount) Type
during the assembly to prevent injury. If necessary, wear gloves or other protective gears. ICS(P)A2-BO0OO-SC Self-supporting Cable

¢ Exercise due caution during the assembly to prevent pinching of hands and fingers. Drawing No. | GMM08-003 11

[Tools] Allen wrench I & Y-axis: IS(P)A

In the case of configuration direction types 2 to 4, B i I l
the actuator and bracket directions are different. ey - :
Thin-head screw (3Mv 1 |
Q'/ Hexagonal socket _ ey |
Parallel pin (2 . .

[Installation of X-Y bracket [1] on X-axis: IS(P)A] |

% r head bolt (4 pcs) I
:* e High-tension washer - Conftlguratlon Pargllel Hexagonal H|gh— Tightening torque |
: E=fy ype pin bolt tension . -7

= ICS(P)A-BA | @6x15 |M6x30mm| M6 54.7kgf-cm/536N-cmi -

ICS(P)A-BB | 28x18 |M8x35mm| M8 _[306kgf-cm/2997N-cm|. & N

(v intaleson ICS(P)A-BC | @8x18 |M8x35mm| M8  |306kgf-cm/2997N-cm P
ICS(P)A-BD | @8x18 |M8x35mm| M8  |306kgf-cm/2997N-cm|- &

ICS(P)A-BE | @8x18 |M8x35mm| M8  |306kgf-cm/2997N-cm||
ICS(P)A-BF | @8x18 [M8x35mm| M8  |306kgf-cm/2997N-cm|-

[1] X-Y bracket

Dedicated washer

ROTIECH Ll [Installation of bracket cover [5] on X-Y bracket [1]] I Hexagonal socket head bolt (4 pcs)
Configuration | Thin-head ) . . [Installation of Y-axis: IS(P)A on X-Y bracket [1]]
type screw Tightening torque | : :
Configuration | Parallel Hexagonal Dedicated Tightening torque
Thin-head screw (3 pcs) ICS(P)A-BA | M3x6mm | 8.9kgf-cm/87.2N-cm : X-axis: IS(P)A type pin | socket head bolt | washer 9 g torq

Parallel pin (1 pc or 2 pcs) ICS(P)A-BB | M3x6mm | 8.9kgf-cm/87.2N-cm I ' ICS(P)A-BA | @6x15 | M6x20mm | Not required| 54.7kgf-cm/536N-cm

pin {1 P P ICS(P)A-BC_| M4x6mm | 20.8kgf-cm/204N-cm : ICS(P)ABB | @6x15 | M6x20mm | Not required| 54.7kgf-cm/536N-cm

- - — - ICS(P)A-BD | M4x6mm | 20.8kgf-cm/204N-cm I ICS(P)A-BC | @8x18 M8x28mm Required | 306kgf-cm/2997N-cm

Note: To.ensure squareness between thg X-axis anc} Y-axis, !nser‘( one parallel pin. ICS(P)A-BE | Mdx6mm | 20.8kgf-cm/204N-cm : ICS(P)A-BD | D8x18 MEx28mm Required | 306kgf-m/2997N-om

ﬁ‘cguhséxtgeoanr;gl;lso?gtween the X-axis and Y-axis to the right angle, and then mount ICS(P)ABF | Max6mm | 20.8kgf-cm/204N-om | ICS(P)A-BE | 28x18 BB Required | 306kgf-cm/2997N-om

9 : | ICS(P)A-BF | @8x18 M8x28mm Required | 306kgf-cm/2997N-cm

: M3 x 12 mm (4 pcs)

3 || 4

[2] Box cover

[3] Connector box (small)

M3 x 12 mm (4 pcs) X-axis: IS(P)A [2] Box cover

M4 x 12 mm (2 pcs)

[6] Grommet with film

[9] Connector joint for cable inside self- |
supporting cable assembly and Y-axis |

[4] Connector box (large)

cable .
. BA: M4 x 14 mm (2 pcs) + spacer
| BB to BF: M4 x 6 mm (2 pcs)
. Configuration Hexagonal ) .
I H type socket head bolt Tightening torque
[1] X-Y bracket : ’;\/I3 X 12 mm ICS(P)A-BA M4x20mm 18kgf-cm/176N-cm
! ‘ (4 pcs) ICS(P)A-BB M4x12mm 18kgf-cm/176N-cm
i ICS(P)A-BC M4x12mm 18kgf-cm/176N-cm
.| Place the M4 nuts ICS(P)A-BD Mdxi12mm | 18kgf-cm/176N-cm
M3 x 12 mm (4 pcs) | '”réC%Z';ton the ICS(P)A-BE Mdx12mm  |18kgf-cm/176N-cm
: gide face of the X- ICS(P)A-BF M4x12mm 18kgf-cm/176N-cm
[Installation of connector box (small) [3] on X-Y bracket [1]] I axis, before the b
[Installation of box cover [2] on connector box (small) [3]] :| connector box
Hexagonal Tightening torque I glarge) [41's
socket head bolt | ''9"tening torg | installed. [9] Connector joint for cable inside

M3x12mm 5.51kgf-cm/54N-cm I
M4x12mm 18kgf-cm/176N-cm |

self-supporting cable assembly, X-axis
cable and controller-actuator cable

* This assembly procedure applies to combination direction 1. If other combination direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.



/I\ Caution: e Although each part has been chamfered to remove sharp edges, exercise due caution ICS(P)A Cartesian Robot, 2-axis Configuration XYB (Y-axis Base Mount) Type
during the assembly to prevent injury. If necessary, wear gloves or other protective gears. ICS(P)A2-BOOD-CT  Cable Track

¢ Exercise due caution during the assembly to prevent pinching of hands and fingers. Drawing No. | GMM08-004 1/2

1 [Tools] Allen wrench - )

] I
100 2§ I

(Reverse of typé 1)

I : I

Y-axis: IS(P)A

In the case of configuration direction types 2 to 4,
the actuator and bracket directions are different.

Thin-head screw (3 pcs) [

[ Type 3 [N |
F;}rjeeﬁ il oey | o [Installation of X-Y bracket [1] on X-axis: IS(P)A] !
oppgsite side) - _ i :
G_G,\ High-tension washer Configuration | Parallel | Hexagonal | High- Tightening torque |

type pin bolt tension
=1 ICS(P)A-BA | @6x15 | M6x30mm M6 | 54.7kgf-cm/536N-cm
ICS(P)A-BB | @8x18 | M8x35mm M8 | 306kgf-cm/2997N-cm
(Ree N ICS(P)A-BC | @8x18 | M8x35mm M8 | 306kgf-cm/2997N-cm

ICS(P)A-BD | @8x18 | M8x35mm M8 | 306kgf-cm/2997N-cm
ICS(P)A-BE | @8x18 | M8x35mm M8 | 306kgf-cm/2997N-cm
ICS(P)A-BF | @8x18 | M8x35mm M8 | 306kgf-cm/2997N-cm

[1] X-Y bracket

[5] Bracket cover

Dedicated washer

[1] X-Y bracket

Hexagonal socket head bolt (4 pcs)

[Installation of Y-axis: IS(P)A on X-Y bracket [1]]

X-axis: IS(P)A [Installation of bracket cover [5] on X-Y bracket [1]] I — — v : S—
. iq* nfiguration I X n | . .

Confti%;ation Thsir(;gsvad Tightening torque | Xaxis: IS(PIA ° t%ea ° api£:1 ° socthige(;dabolt za;:r?e? Tightening torque
ICS(P)A-BA | M3x6mm 8.9kgf-cm/87.2N-cm . ICS(P)A-BA | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BB | M3x6mm 8.9kgf-cm/87.2N-cm I ICS(P)A-BB | @6x15 M6x20mm Not required| 54.7kgf-cm/536N-cm
ICS(P)A-BC | M4x6mm 20.8kgf-cm/204N-cm . ICS(P)A-BC | &8x18 M8x28mm Required | 306kgf-cm/2997N-cm
Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin. ICS(P)A-BD | MAx6mm | 20.8kgf-cm/204N-cm I ICS(P)A-BD | @8x18 | M8x28mm Required | 306kgf-cm/2997N-cm
Adjust the angle between the X-axis and Y-axis to the right angle, and then mount ICS(P)A-BE | Mdx6mm | 20 8kgf-cm/204N-cm | ICS(P)A-BE | @8x18 |  M8x28mm Required | 306kgf-cm/2997N-cm
the hexagonal bolts. ICS(P)A-BF_| Max6mm | 20.8kgf-cm/204N-cm I ICS(P)A-BF | @8x18 | M8x28mm Required | 306kgf-cm/2997N-cm

3 | | 4
Flange-head hexagonal | M6 x 8 mm (4 pcs)
socket head bolt .
M4 x 6 mm | [10] Cable track
.. : :
T ¥ I
L9
i
I
i [9] Guide rail
X-axis: IS(P)A k .
g ~a . I b N\
A g N . \
il / \ . A\
;“\. I v I \
: \ Install the bolts by : V
! ! hooking them in the ; I
1 M4 hexagonal nut
\ @«-r—"" Install the bolts before holes in the guide rail [9].| | !
3 ) the guide rail [9] is | ;
. ! installed. ! T K
~a - h . » ’
- | X-axis: IS(P)A M6 hexagonal nut (4 pcs) , s
- - Installation of guide rail [9] on X-axis: IS(P)A . ~ -
The M4 hexagonal nut in the slot provided on the [ g [ (P : A _-7
side face of the X-axis, before the guide rail [9] is F'a”s%i;l‘;ii‘;ggx:g?”a' Tightening torque | -
installe(.:i. The numbe_r of hexagpnal nuts to be M4x6mm 18kgf-cm/176N-cm | Follow “Instruction for C.a.ble.Tr.ack Type Wiring (Drawing No. GMM12-001)”
placed in the slot varies according to the stroke. for how to lay out the wiring inside a cable track.

* This assembly procedure applies to combination direction 1. If other combination direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.



ICS(P)A Cartesian Robot, 2-axis Configuration XYB (Y-axis Base Mount) Type
ICS(P)A2-BOOO-CT Cable Track
Drawing No. | GMMO08-004 2/2
!
5 [2] Box cover | 6

[10] Cable track

M3 x 12 mm (4 pcs) |

\ a [3] Connector box BA: M4 x 20 mm (2 pcs) + spacer |
BB to BF: M4 x 12 mm (2 pcs)

/{/ .
o L -
L
-

P

< M3 x 12 mm (4 pcs) I

Y-axis: IS(P)A

b ~ [5] Joint cover |

[3] Connector box ‘f I
To [1] X-Y bracket I 1 '

. N . I
[7] Grommet with film | ' M5 hexagonal nut (3 pcs)

[Installation of connector box [3] on X-Y bracket [1]] | _" Follow “Instruction for Cable Track Type Wiring
(Drawing No. GMM12-001)”
o H I'socket | — . . : A
Configuration type exi%‘;’éab;‘t’c €1 Tightening torque | for how to lay out the wiring inside a cable track.
ICS(P)A-BA M4x20mm 18kgf-cm/176N-cm :
ICS(P)A-BB M4x12mm 18kgf-cm/176N-cm | —
ICS(P)A-BC M4x12mm 18kgf-cm/176N-cm : S\
ICS(P)A-BD M4x12mm 18kgf-cm/176N-cm | | 83616 Fack 3ids
ICS(P)A-BE Md4x12mm 18kgf-cm/176N-cm S AN (e Pt Y T ettt
ICS(P)A-BF Md4x12mm 18kgf-cm/176N-cm |
. “.
. : P = - L
[Installation of box cover [2] on connector box [3]] | it [10] Connector joint for cable inside
A : n @ cable track and Y-axis cable
exagonal socket | - ;o t0ning torque 1 )
head bolt ghtening torq | \ &7
Y
M3x12mm 5.51kgf-cm/54N-cm : htd

Cable inside cable track

[3] Connector box

[3] Connector box

X-axis: IS(P)A
BA: M4 x 14 mm (2 pcs)- X-axis: IS(P)A
+ spacer |
BBtoBF: M4 x6 mm
(2 pes) |
. | g X-axis: IS(P)A :
X-axis: IS(P)A \ ‘f,.:-
J @ ] - Controller-actuator cable
' K | \ . )
-
*a . ) L [3] Connector box : \g " :
Tt a0 o | [8] Cable fix cap t
" . exagonal socke: . . . .
Configuration type h%ad bolt Tightening torque : [10] Connector joint for cable 1 5 Joint
insi 1 oint cover
Pl two M4 h I nuts in the slot ided on the side . ICS(P)A-BA M4x14mm 18kgf-cm/176N-cm I inside cable track and . [5] Joi Y
oS axis bofora th o tor o 131 s inetaleg e ace o ICS(P)A-BB M4x6mm | 18kgf-om/176N-cm : controller-actuator cable v
e X-axis before the connector box [3] is installed. ICS(P)A-BC Y r— = | 1
ICS(P)A-BD M4x6mm 18kgf-cm/176N-cm . [
ICS(P)A-BE M4x6mm 18kgf-cm/176N-cm | M3 x 12 mm (4 pcs)
ICS(P)A-BF M4x6mm 18kgf-cm/176N-cm .

i Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”
for how to lay out the wiring inside a cable track.




&Caution: ¢ Although each part has been chamfered to remove sharp edges, exercise due caution
during the assembly to prevent injury. If necessary, wear gloves or other protective gears.
¢ Exercise due caution during the assembly to prevent pinching of hands and fingers.

ICS(P)A2-GOODO-CT

ICS(P)A Cartesian Robot, 2-axis Configuration XYG (Gantry) Type

Cable Track

Drawing No. [GMMO08-005

1/2

1
[ Parallel pin (@8 x 18)x2 |
X-axis: IS(P)A
3
[1] X-Y bracket
N\
AY
1
1
.}’l
i 1 Flange-head
X-axis: IS(P)A ‘T.,‘ M4 x 6 mm
M4 x 10 mm
Lot TN [Cable track assembly|
;z ",‘ég \‘
i - 1
\ ~ 1
A . !
Yo @ @ ’}

== Flange-head hexagonal
socket head bolt

Tightening torque

Insert the M4 nuts beforehand.| M4x6mm

18kgf-cm/176N-cm

M4x10mm

18kgf-cm/176N-cm

X-axis: IS(P)A

M4 x 12 mm (2 pcs)

I [1] X-Y bracket

Hexagonal socket
head bolt

M8x45mm (8 pcs) Required 117kgf-cm/1148N-cm
/ [Installation of X-Y bracket (1) [1] on X-axis: IS(P)A]

Dedicated washer Tightening torque

A/ Flat washer

5 [Installation of spacer [4] on gantry]

[8] Box cover

[10] Connector box

Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”
for how to lay out the wiring inside a cable track.

3 Hexagonal socket head
N 9 bolt

g | M6x45mm (4 pcs)

&

Tightening torque

57.4 kgf-cm/536N-cm

: [4] Spacer

@6 x 15 mm
,-E/ parallel pin (2 pcs)

head bolt Tightening torque

M6x35mm (4 pcs)

57.4 kgf-cm/536N-cm

ii Hexagonal socket
i
[
i
]

33 [Installation of pin bracket [3] on spacer [4]]
¥
o
: |
. [3] Pin bracket
!
I
I

Gantry




ICS(P)A2-GOOO-CT

ICS(P)A Cartesian Robot, 2-axis Configuration XYG (Gantry) Type

Cable Track

Drawing No.

GMMO08-005

2/2

[2] X-Y bracket

Gantry |

[3] Pin bracket |

Thin-head screw |

Y-axis: IS(P)A : |

[7] Connector box (small)

[9] Joint cover

Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”

for how to lay out the wiring inside a cable track.

These 2 pieces

Hexagonal socket
have been deleted.

head bolt
M8x30mm (6 pcs)

Tightening torque

54.7 kgf-cm/536N-cm

Y-axis: IS(P)A

[11] Cable track

Follow “Instruction for Cable Track Type
Wiring (Drawing No. GMM12-001)”

for how to lay out the wiring inside a
cable track.

X-axis: IS(P)A

Cable inside cable track ™~ N
[3] Connector box (large)

', Controller-
\ actuator cable

[11] Connector joint for //
cable inside cable track’
and controller-actuator
cable ’

-

é? Connector joint for
actuator cable and cable
inside cable track




&Caution: ¢ Although each part has been chamfered to remove sharp edges, exercise due caution

during the assembly to prevent injury. If necessary, wear gloves or other protective gears.

¢ Exercise due caution during the assembly to prevent pinching of hands and fingers.

ICS(P)A Cartesian Robot, 2-axis Configuration XYS (Y-axis Slider Mount) Type

ICS(P)A2-SOOO-SC

Self-supporting Cable

Drawing No.

GMMO08-006

171

In the case of configuration direction types 2 to 4,
the actuator and bracket directions are different.

Thin-head screw (3 pcs) ™~ § ! §

[5] Bracket cover

1 [Tools] Allen wrench

(Reverse of type 1)

/Hexagonal bolt (4 pcs)
High-tension =
__..--"'""."G' N %A“___..--"""r

e _ &

asher

[11 X-Y bracket

W
Type 3
(Y-axis installed on
opposite side)

Type 4
(Reverse of type 3)

[Installation of X-Y bracket [1] on X-axis: IS(P)A]

X-axis:

Y-axis: IS(P)A

X-axis: IS(P)A

[Installation of bracket cover [51 on X-Y bracket [11]

Note: To ensure squareness between the X-axis and Y-axis, insert one parallel

pin. Adjust the angle between the X-axis and Y-axis to the right angle,
and then mount the hexagonal bolts.

[2] Box cover

[3] Connector box (small)

M4 x 10 mm, M4 nut
(2 pcs each)

Configuration type | Thin-head screw | Tightening torque
ICS(P)A-SA M3x6mm 8.9kgf-cm/87.2N-cm
ICS(P)A-S1C M4x6mm 20.8kgf-cm/204N-cm
ICS(P)A-S2C M4x6mm 20.8kgf-cm/204N-cm
ICS(P)A-SG M4x6mm 20.8kgf-cm/204N-cm

SA: M6 x 12 mm (2 pcs)
SC, SG: M8 x 15 mm (2 pcs)

[8] Joint cover

[9] Connector joint for cable inside
self-supporting cable assembly
and Y-axis cable

[Installation of connector box (small) [3] on X-Y bracket [1]]

Configuration type | Parallel pin Hexagonal bolt | High-tension Tightening torque
ICS(P)A-SA 6x15 M6x30mm M6 54.7kgf-cm/536N-cm |
ICS(P)A-S1C 8x18 M8x35mm M8 306kgf-cm/2997N-cm
ICS(P)A-S2C 8x18 M8x35mm M8 306kgf-cm/2997N-cm
ICS(P)A-SG 8x18 M8x35mm M8 306kgf-cm/2997N-cm

[Installation of Y-axis: IS(P)A on X-Y bracket [1]]

Configuration Pargllel Hexagonal Dedicated Tightening torque
type pin socket head bolt washer

ICS(P)A-SA 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm

ICS(P)A-S1C 8x18 M8x28mm Required 306kgf-cm/2997N-cm

ICS(P)A-S2C 8x18 M8x28mm Required 306kgf-cm/2997N-cm

ICS(P)A-SG 8x18 M8x28mm Required 306kgf-cm/2997N-cm

M3 x 12 mm (4 pcs)

Place the M4 nuts in the

slot provided on the side

face of the X-axis, before
the connector box (large)
[4] is installed.

[6] Grommet with film

[8] Joint cover

[Installation of connector box (large) [4] on X-Y bracket [1]]

[1] X-Y
bracket

M3 x 12 mm

[Installation of box cover [2] on connector box (small) [3]]

socl—li(ee»t(?"n%(::iatgolt Tightening torque
M3x12mm 5.51kgf-cm/54N-cm
M4x12mm 18kgf-cm/176N-cm
M6x6mm 54.7kgf-cm/536N-cm
M8x6mm 117kgf-cm/1148N-cm

Hexagonal socket head bolt

Tightening torque

M4x12mm

18kgf-cm/176N-cm

[Installation of box cover [2] on connector box (large) [4]]

Hexagonal socket head
bolt

Tightening torque

M3x12mm

5.51kgf-cm/54N-cm

[9] Connector joint for cable inside
self-supporting cable assembly, X-axis
cable and controller-actuator cable

*

This assembly procedure applies to combination direction 1. If other combination direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.




ICS(P)A Cartesian Robot, 2-axis Configuration YZ (Z-axis Slider Mount) Type

&Caution: ¢ Although each part has been chamfered to remove sharp edges, exercise due caution
ICS(P)A2-YOOOO-SC Self-supporting Cable

during the assembly to prevent injury. If necessary, wear gloves or other protective gears.

¢ Exercise due caution during the assembly to prevent pinching of hands and fingers.

GMMO08-007 171

Drawing No.

Hexagonal socket head bolt (4 pcs) I

/ High-tension washer (4 pcs) | 2 Hexagonal bolt

1 | [Tools] Allen wrench

Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin.

Adjust the angle between the X-axis and Y-axis to the right angle, and then el Pl th ti bolt |
mount the hexagonal bolts. - ace the mounting bolts .

before the X-Y bracket [1] is |
installed on the Y-axis. .

| Y-axis: IS(P)A

™~

Z-axis: IS(P)A

Parallel pin

Mounting bolt

Hexagonal socket head bolt (4 pcs)

N Dedicated washer (excluding YA) Configuration Parallel Hexagonal bolt High-tension I
type pin washer .

ICS(P)A-YA 26x15 M6x30mm M6 |

ICS(P)A-YC &8x18 M8x35mm M8 .

ICS(P)A-YG &8x18 M8x35mm M8 I

g’

[Installation of Z-axis: IS(P)A on X-Y bracket [11]

Parallel pin [1] X-Y bracket

(1 pc or 2 pcs) [Installation of X-Y bracket [1] on Y-axis: IS(P)A] !

[4] Connector box (large)

[2] Box cover

Y-axis: IS(P)A

Place two M4 nuts in the slot provided
on the side face of the Y-axis before the
connector box (large) [4] is installed.

M3 x 12 mm (4 pcs)

[9] Cannector joint for cable inside self-
supp¢rting cable assembly and controller-
actyétor cable

[Installation of connector box (large) [4] on X-Y bracket [1]]

Hexagonal socket head bolt

Tightening torque

M4x8mm

18kgf-cm/176N-cm

[Installation of box cover [2] on connector box (large) [4]]

Hexagonal socket head bolt

Tightening torque

M3x12mm

5.51kgf-cm/54N-cm

[7] Joint cover

f’
[5] Grommet with film \

3x 12 mm (4 pcs)

M4 x 16 mm (2 pcs)

[2] Box cover

Place the M4 nuts in the slot provided
on the side face of the X-axis before the
connector box (large) [4] is installed.

[Installation of connector box (large) [4] on X-Y bracket [1]]

Hexagonal socket head bolt

Tightening torque

M4x16mm

18kgf-cm/176N-cm

[Installation of box cover [2] on

connector box (large) [4]]

Hexagonal socket head bolt

Tightening torque

M3x12mm

5.51kgf-cm/54N-cm

[8] Box spacer

Conftlss;atlon Papria;llel sog(ee)t(i%:gall)olt D;g::r?éfd Tightening torque Tightening torque | Conftls‘t;(reatlon Parallel pin |Hexagonal bolt H'%:Sehnes:on Tightening torque Tightening torque
ICS(P)A-YA @6x15 M6x28mm None 54.7kgf-cm/536N-cm | 8.9kgf-cm/87.2N-cm | ICS(P)A-YA 26x15 M6x30mm M6 54.7kgf-cm/536N-cm | 8.9kgf-cm/87.2N-cm
ICS(P)A-YC 28x18 M8x40mm M8 306kgf-cm/2997N-cm | 20.8kgf-cm/204N-cm . ICS(P)A-YC 8x18 M8x35mm M8 306kgf-cm/2997N-cm | 20.8kgf-cm/204N-cm
ICS(P)A-YG 28x18 M8x30mm M8 306kgf-cm/2997N-cm | 20.8kgf-cm/204N-cm | ICS(P)A-YG 8x18 M8x35mm M8 306kgf-cm/2997N-cm | 20.8kgf-cm/204N-cm

Z-axis: IS(P)A

3 x 12 mm (4 pcs)

[9] Connector joint for cable inside
self-supporting cable assembly and
Z-axis cable




/I\ Caution: e Although each part has been chamfered to remove sharp edges, exercise due caution ICS(P)A Cartesian Robot, 2-axis Configuration XZ (Z-axis Base Mount) Type
during the assembly to prevent injury. If necessary, wear gloves or other protective gears. ICS(P)A2-2000-CT Cable Track
¢ Exercise due caution during the assembly to prevent pinching of hands and fingers. Drawing No. |GMMO08-008 1/2
! i Z-axis: IS(P)A
1 [TOOIS] Allen wrench Hexagonal socket head bolt (4 pcs) | 2 m

[1] X-Z bracket

Flat washer (excluding ZA)

[1] X-Z bracket

X-axis: IS(P)A
[Installation of X-Y bracket [1] on X-axis: IS(P)A]

Parallel pin (2 pcs)

Flat washer (excluding ZA)

Hexagonal socket head
bolt (4 pcs)

Conftlssgatlon Pa’;ﬁ:lel so&?t(igegzal!)olt waFIsahter Tightening torque Tightening torque
ICS(P)A-ZA 6x15 M6x20mm None | 54.7kgf-cm/536N-cm | 8.9kgf-cm/87.2N-cm
ICS(P)A-Z1C 8x18 M8x30mm M8 | 306kgf-cm/2997N-cm| 20.8kgf-cm/204N-cm
ICS(P)A-Z2C 28x18 M8x30mm M8 | 306kgf-cm/2997N-cm| 20.8kgf-cm/204N-cm
ICS(P)A-ZD 8x18 M8x30mm M8 | 306kgf-cm/2997N-cm| 20.8kgf-cm/204N-cm
ICS(P)A-ZG 8x18 M8x30mm M8 | 306kgf-cm/2997N-cm| 20.8kgf-cm/204N-cm

Configuration Parallel Hexagonal Flat . . ) . I
type pin socket head bolt | washer Tightening torque Tightening torque :
ICS(P)A-ZA 6x15 M6x20mm None | 54.7kgf-cm/536N-cm | 8.9kgf-cm/87.2N-cm I
ICS(P)A-Z1C 28x18 M8x30mm M8 306kgf-cm/2997N-cm| 20.8kgf-cm/204N-cm |
ICS(P)A-Z2C 28x18 M8x30mm M8 306kgf-cm/2997N-cm| 20.8kgf-cm/204N-cm I
ICS(P)A-ZD 28x18 M8x30mm M8 306kgf-cm/2997N-cm| 20.8kgf-cm/204N-cm |
ICS(P)A-ZG 28x18 M8x30mm M8 306kgf-cm/2997N-cm| 20.8kgf-cm/204N-cm | .
I
3 | 4
Flange-head |
hexagonal socket head
f,'bolt .
7 M4 x 6 mm |
, I
[9] Guide rail |
I
I
I
X-axis: IS(P)A .
P Install the bolts by !
et N kel hooking them in the |
Y, o4 hexagonalnut | Install the bolts before holes in the guide rail [9].| .
| the guide rail [9] is |
S’ \ @ /) installed.
\ @ B

The M4 hexagonal nut in the slot provided on the
side face of the X-axis, before the guide rail [9] is
installed. The number of hexagonal nuts to be
placed in the slot varies according to the stroke.

[Installation of guide rail [9] on X-axis: IS(P)A]

Flange-head hexagonal
socket head bolt

M4x6mm

Tightening torque I
18kgf-cm/176N-cm |

X-axis: IS(P)A AN T L,

M6 x 8 mm (4 pcs)

[10] Cable track

-_——— -

Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”
for how to lay out the wiring inside a cable track.




ICS(P)A Cartesian Robot, 2-axis Configuration XZ (Z-axis Base Mount) Type
ICS(P)A2-2O00O0O-CT Cable Track
Drawing No. | GMMO08-008 2/2
5 2-axis: 1S(PIA Installation of mounting o I 6
-axis: _ayi Mgk W)
_ bracket [11] on Y-axis N Y I [10] Connector joint for cable inside
111 Mounting bracket M4 x 10 mm (2 pcs) P : |
[11] Mounting bracke /M4 ut o il | cable track and Y-axis cable

F

Z-axis: IS(P)A - |

Place two M4 hexagonal nuts in . Z-axis: IS(P)A
the slot provided on the side face |
of the Z-axis before the cable :
track [10] is installed. |

Install the connector box [7]
with mounting bracket [11].

[2] Box cover
L)
o t?\
n“@ 2%

M3 x 12 mm (4 pcs)

[3] Connector box (small) ) |
[3] Connector box (small) .

"-._“' q“ﬁ
..W‘B

[5] Joint cover \( i'\ Flange-head ! | [3] Connector box
1 . M4 x 8 mm (2 pcs) |

[1] X-Z bracket

[7] Grommet with film [11]1Mounting [ Install the bolts before the :
bracket connector box (small) [3] is |
-~ installed. |
[Installation of mounting bracket [11] on connector box [3]] |
[Installation of mounting bracket [11] on Z-axis: IS(P)A] -1 N ‘ :
Hexagonal socket head bolt | Tightening torque . ﬁj) |
M4x22mm 18kgf-cm/176N-cm . g 101 Cable track
. I [10] Cable tracl
[Installation of box cover [2] on connector box [3]] 'lnStLa” I'tlhle bqltsir?y hOOK'FQ them |
In the noles In the mountin
Hexagonal socket head bolt | Tightening torque bracket [11] 9 : Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”
M3x12mm 5.51kgf-cm/54N-cm . I for how to lay out the wiring inside a cable track.
e e e e e e e e e e e e e e e e L —|
I
7 | 8

| [3] Connector box

Cable inside cable track
[3] Connector box

X-axis: IS(P)A

I - .
X-axis: IS(P)A | ey I
'-‘ @ 1 ZA: M4 x 14 mm + spacer .
\ ! ZC to ZH: M4 x 6 mm | >
/
. , : & >
See_ -’ | g < [2] Box cover Controller-
+ & actuator cable
X-axis: IS(P)A . \
[3] Connector box | 1 ' Q
Place two M4 hexagonal nuts in the slot : l. ) -
provided on the side face of the X-axis | ! [5] Joint cover [8] Cable fix cap
before the connector box [3] is installed. | i [10] Connector joint for cable
: \ inside cable track and
| M3 x 12 mm (4 pcs) controller-actuator cable

Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”
| for how to lay out the wiring inside a cable track.




&Caution: ¢ Although each part has been chamfered to remove sharp edges, exercise due caution
during the assembly to prevent injury. If necessary, wear gloves or other protective gears.

ICS(P)A3-BOOOBOO-CT-CT

ICS(P)A Cartesian Robot, 3-axis Configuration XYB + Z-axis (Z-axis Base Mount) Type

X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Self-supporting Cable Track

Thin-head screw (3 pcs)

| Ay

the actuator and bracket directions are different.

//V

— Hexagonal socket

head bolt (4 pcs)

High-tension washer

(Reverse of type 1)

(Y-axis installed on
opposite side)

[5] Bracket cover

[1] X-Y bracket

X-axis: IS(P)A

[Installation of X-Y bracket [1] on X-axis: IS(P)A]

Thin-head screw (3 pcs)

Parallel pin (1 pc or 2 pcs)

mount the hexagonal bolts.

Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin.
Adjust the angle between the X-axis and Y-axis to the right angle, and then

Parallel pin

[2] Y-Z bracket

Hexagonal socket
head bolt (4 pcs)

X-axis: IS(P)A

- Conftl%er}atlon Pa;;llel Hexagonal bolt t:r:giho-n Tightening torque
. ICS(P)A-BA | @6x15 M6x30mm M6 54.7kgf-cm/536N-cm ||
i ICS(P)A-BB 28x18 M8x35mm M8 306kgf-cm/2997N-cm |:
| Reverseoftype3) ICS(P)A-BC | ©8x18 M8x35mm M8 306kgf-cm/2997N-cm ||
Y ICS(P)A-BD 8x18 M8x35mm M8 306kgf-cm/2997N-cm |:
- ICS(P)A-BE 28x18 M8x35mm M8 306kgf-cm/2997N-cm ||
ICS(P)A-BF 28x18 M8x35mm M8 306kgf-cm/2997N-cm |-
[Installation of bracket cover [5] on X-Y bracket [1]]

C°”ft'$y’;;a“°” Ths"c‘;gfvad Tightening torque |
ICS(P)A-BA M3x6mm | 8.9kgf-cm/87.2N-cm |
ICS(P)A-BB M3x6mm |20.8kgf-cm/204N-cm .
ICS(P)A-BC M4xémm |20.8kgf-cm/204N-cm |
ICS(P)A-BD M4x6mm |20.8kgf-cm/204N-cm .
ICS(P)A-BE M4x6mm |20.8kgf-cm/204N-cm |

ICS(P)A-BF M4x6mm |20.8kgf-cm/204N-cm

[Installation of Y-Z bracket [2] on Y-axis: IS(P)A]

Configuration type Parallel pin Hexa:]%(;réatl)zﬁcket Washer Tightening torque
ICS(P)A-BAOMB10O 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm
ICS(P)A-BBOMB10 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm
ICS(P)A-BBOHB10 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm
ICS(P)A-BCOHB10O 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm
ICS(P)A-BCOHB20O 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BCOHB3O 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BCOMB10 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm
ICS(P)A-BCOMB20O 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BCOMB30O 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BDOHB1O 26x15 M6x20mm Not required 54.7kgf-cm/536N-cm
ICS(P)A-BDOHB20O 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BDOHB3O 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOHB10 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BEOHB20O 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOHB3O 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOMB20 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOMB30O 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BFOHB10O 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm
ICS(P)A-BFOHB20O 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BFOHB30O @8x18 M8x28mm Required 306kgf-cm/2997N-cm

Y-axis: IS(P)A

[2] Y-Z bracket

Y-axis: IS(P)A

¢ Exercise due caution during the assembly to prevent pinching of hands and fingers. Drawing No. |GMMO08-009 1/3
1 [Tools] Allen wrench I 2
In the case of configuration direction types 2 to 4, ) |

[1] X-Y bracket

Dedicated washer

Hexagonal socket head bolt (4 pcs)

[Installation of Y-axis: IS(P)A on X-Y bracket [1]]

O pe | " | socket naad bolt| washer | Tightening torque
ICS(P)A-BA 6x15 M6x20mm Not required| 54.7kgf-cm/536N-cm
ICS(P)A-BB 6x15 M6x20mm Not required| 54.7kgf-cm/536N-cm
ICS(P)A-BC 8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BD 28x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BE 8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BF 8x18 M8x28mm Required | 306kgf-cm/2997N-cm

| Remove the cover when installing the Z-axis. |

Hexagonal socket

head bolt (4
ead bolt (4 pcs) [Installation of Z-axis: IS(P)A on Y-Z bracket [2]]

Configuration type | Parallel pin Hex&:]%(;r(\’all)zl(:cket Washer Tightening torque
ICS(P)A-BAOMB10 6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BBOMB10 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BBOHB10O 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BCOHB1O 6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm

Dedicated washer [ |CS(P)A-BCOOHB20 | @8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BCOHB30O 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BCOMB10 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BCOMB20 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BCOMB30O 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BDOHB10O 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BDOHB20O 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BDOHB30 | 8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BEOHB10 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BEOHB20O 28x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BEOHB3O 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOMB20 | @8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BEOMB30 | &8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BFOHB10O 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BFOHB20O 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BFOHB30O @8x18 M8x28mm Required 306kgf-cm/2997N-cm

* This assembly procedure applies to combination direction 1. If other combination direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.




ICS(P)A Cartesian Robot, 3-axis Configuration XYB + Z-axis (Z-axis Base Mount) Type
ICS(P)A3-BOOOBOO-CT-CT X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Self-supporting Cable Track

Drawing No. | GMM08-009 2/3
|
1 6
I
Z-axis: ICS(P)A |
Flange-head hexagonal
. socket head bolt
| M4 x 6 mm
= : -~ ;
oy
> | X-axis: IS(P)A -
[-L Thin-head screw | [9] Guide rail
o/ o
w | X-axis: IS(P)A
JisS | e
( . o RS "\ ,i S
) Ball sorew cover ! o N oot Install the bolts by hooking
_ | ! | Install the bolts before th"j(rjn n Flhegholes in the
Y-axis: ICS(P)A ) : |‘ _:-— - M4 hexagonal nut the guide rail [9] is guide rail [9].
o i \ @~ installed.
- -_\‘_:“‘ - \\\ /I!
Py |
The M4 hexagonal nut in the slot provided on the ) . . .
! side face of tt?e X-axis, before thepguide rail [9] is [Installation of guide rail [9] on X-axis: IS(P)A]
| installe(_j. The numbe.r of hexagpnal nuts to be F'ans%i-kheﬁdeggxsgﬁna' Tightening torque
: placed in the slot varies according to the stroke.
I M4x6mm 18kgf-cm/176N-cm
e e — T T
i 8 [2] Box cover

I [3] Connector box I
BA: M4 x 20 mm (2 pcs) + spacer .

a S, BB to BF: M4x 12mm (2pcs) |

M6 x 8 mm (4 pcs)
[10] Cable track |
Y-axis: IS(P)A

M3 x 12 mm (4 pcs)

" " [5] Joint cover .
: . AN N / :
I e l .o iy Ny I [3] Connector box
[9] Guide rail : A Ns > . d
I U J <>’\ I « ) :,
: - | Follow “Instruction for Cable Track Type :
| To [1] X-Y bracket o | Wiring (Drawing No. GMM12-001)” !
S . [7] Grommet with film - | for how to lay out the wiring inside a N
AN | [Installation of connector box [3] on X-Y bracket [1]] | cable track.
v
\ : ) i Hexagonal . : .
: | Configuration type socket head bolt Tightening torque |
I : ICS(P)A-BA M4x20mm 18kgf-cm/176N-cm : —
L . / | ICS(P)A-BB M4x12mm | 18kgf-cm/176N-cm | \
Xaxis: IS(PIA ‘. T S : ICS(P)A-BC M4x12mm [ 18kgf-cm/176N-cm : | BTy
-axis: IS(P) M6 hexagonal nut (4 pcs) N o’ I ICS(P)A-BD M4x12mm [ 18kgf-cm/176N-cm I L= = 4
See - - . ICS(P)A-BE M4x12mm | 18kgf-cm/176N-cm .
| ICS(P)A-BF M4x12mm 18kgf-cm/176N-cm | \
. . [}
: . : |
| [Installation of box cover [2] on connector box [3]] | ;‘, @ [10] Connector joint for cable inside
\ .
Hexagonal socket head bolt | Tightening torque ‘\t\ W cable track and Y-axis cable
| Nyl

! M3x12mm 5.51kgf-cm/54N-cm




ICS(P)A3-BOOOBOO-CT-CT

ICS(P)A Cartesian Robot, 3-axis Configuration XYB + Z-axis (Z-axis Base Mount) Type
X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Self-supporting Cable Track

Drawing No. [ GMMO08-009

Z-axis: IS(P)A

[13] Box cover support

M6 x 12 mm (2 pcs)
Y-axis: IS(P)A

Hexagonal ] ;
socket head bolt Tightening torque
M6x12mm 54.7kgf-cm/536N-cm

[3] Connector box

Cable inside cable track X-axis: IS(P)A

[5] Joint cover

1

1
[10] Connector joint for cable M3 x 12 mm (4 pcs)
inside cable track and controller-
actuator cable

3/3

Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”
for how to lay out the wiring inside a cable track.

[5] Connector box (small)
M3 x 12 mm (4 pcs)

Z-axis: IS(P)A

———C ==

Also wire the
motor/encoder at the
same time.

[13] Box cover support

Y-axis: IS(P)A

Hexagonal ) .

socket head bolt Tightening torque
M3x12mm 5.51kgf-cm/54N-cm
M4x6mm 18kgf-cm/176N-cm

14

10 | 1
I
I
i [3] Connector box
I
i X-axis: IS(P)A
BA: M4 x 14 mm (2 pcs) |
+ spacer .
BB to BF: M4 x 6 mm |
(2 pes) :
1
X-axis: IS(P)A . o7 I Controller-actuator ———»,
\ @ [3] Connector box | cable
\\ ," .
N 7 | [8] Cable fi
~ - ) ) Hexagonal ) ) able fix cap
S Configuration type socket head bolt Tightening torque .
ICS(P)A-BA M4x14mm 18kgf-cm/176N-cm |
ICS(P)A-BB M4x6mm 18kgf-cm/176N-cm :
Place two M4 hexagonal nuts in the slot provided on the side face ICS(P)A-BC Md4x6mm | 18kgf-cm/176N-cm |
of the X-axis before the connector box [3] is installed. ICS(P)A-BD M4x6mm | 18kgf-cm/176N-cm :
ICS(P)A-BE M4x6mm 18kgf-cm/176N-cm |
ICS(P)A-BF M4x6mm 18kgf-cm/176N-cm :
I
[ I
12 : 13 Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)” .
| for how to lay out the wiring inside a cable track.

i Z-axis: IS(P)A

! Insert the M4 nut from the T
. slot. The number of nuts to be

I inserted varies according to the
length of the Y-axis.

I [14] Cable track assembly

B

. Flange-head hexagonal —
| socket head bolt

M4 x 6 mm Guide rail

Flange-head hexagonal
| socket head bolt

M4x6mm

Tightening torque
18kgf-cm/176N-cm

Y-axis: IS(P)A




&Caution: ¢ Although each part has been chamfered to remove sharp edges, exercise due caution
during the assembly to prevent injury. If necessary, wear gloves or other protective gears.
¢ Exercise due caution during the assembly to prevent pinching of hands and fingers.

ICS(P)A Cartesian Robot, 3-axis Configuration X-Y Base Mount (XYB) + Z-axis (Z-axis Base Mount) Type
ICS(P)A3-BOOOBOO-CT-SC

X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Self-supporting Cable

Drawing No.

GMMO08-0010

1/3

1 [Tools] Allen wrench

In the case of configuration direction types 2 to 4,
the actuator and bracket directions are different.

g'/ Thin-head screw (3V -
. Hexagonal socket

head bolt (4 pcs)

e

High-tension washer

Parallel pin (1 pc or 2 pcs)

Thin-head screw (3 pcs)

(Reverse of type 1)
=
[
(Y-axis installed on
opposite side)
= -
= [Installation of X-Y bracket [1] on X-axis: IS(P)A]
Configuration type |Parallel pin | Hexagonal bolt | High-tension Tightening torque
. ICS(P)A-BA @6x15 M6x30mm M6 54.7kgf-cm/536N-cm I
ICS(P)A-BB &8x18 M8x35mm M8 306kgf-cm/2997N-cm :
ICS(P)A-BC 28x18 M8x35mm M8 306kgf-cm/2997N-cm|!
ICS(P)A-BD 8x18 M8x35mm M8 306kgf-cm/2997N-cm |
ICS(P)A-BE &8x18 M8x35mm M8 306kgf-cm/2997N-cm|.
ICS(P)A-BF &8x18 M8x35mm M8 306kgf-cm/2997N-cm

Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin. Adjust the angle
between the X-axis and Y-axis to the right angle, and then mount the hexagonal bolts.

[2] Y-Z bracket ™

Hexagonal socket
head bolt (4 pcs)

[Installation of bracket cover [5] on X-Y bracket [1]]

Configuration type | Thin-head screw Tightening torque
ICS(P)A-BA M3x6mm 8.9kgf-cm/87.2N-cm
ICS(P)A-BB M3x6mm 20.8kgf-cm/204N-cm
ICS(P)A-BC M4x6mm 20.8kgf-cm/204N-cm
ICS(P)A-BD M4x6mm 20.8kgf-cm/204N-cm
ICS(P)A-BE M4x6mm 20.8kgf-cm/204N-cm
ICS(P)A-BF M4x6mm 20.8kgf-cm/204N-cm

[Installation of Y-Z bracket [2] on Y-axis: IS(P)A]

Configuration type

Tightening torque

ICS(P)A-BAOMB10

54.7kgf-cm/536N-cm

ICS(P)A-BBOMB1O

54.7kgf-cm/536N-cm

ICS(P)A-BBOHB1O

54.7kgf-cm/536N-cm

ICS(P)A-BCOHB1O

54.7kgf-cm/536N-cm

ICS(P)A-BCOHB20

306kgf-cm/2997N-cm

ICS(P)A-BCOHB3O

306kgf-cm/2997N-cm

ICS(P)A-BCOMB10

54.7kgf-cm/536N-cm

ICS(P)A-BCOMB20]

306kgf-cm/2997N-cm

ICS(P)A-BCOMB30O

306kgf-cm/2997N-cm

ICS(P)A-BDOHB1O

54.7kgf-cm/536N-cm

ICS(P)A-BDOHB201

306kgf-cm/2997N-cm

ICS(P)A-BDOHB3O

306kgf-cm/2997N-cm

ICS(P)A-BEOHB10

54.7kgf-cm/536N-cm

ICS(P)A-BEOHB20O

306kgf-cm/2997N-cm

ICS(P)A-BEOOHB30O

306kgf-cm/2997N-cm

ICS(P)A-BEOMB201

306kgf-cm/2997N-cm

ICS(P)A-BEOIMB30

306kgf-cm/2997N-cm

ICS(P)A-BFOHB10

54.7kgf-cm/536N-cm

ICS(P)A-BFOHB20O

306kgf-cm/2997N-cm

ICS(P)A-BFOHB3O

Pag;’::]llel soci-liz)t(i%(:;atlnolt Washer
6x15 M6x20mm Not required
26x15 M6x20mm Not required
6x15 M6x20mm Not required
26x15 M6x20mm Not required
218x18 M8x28mm Required
8x18 M8x28mm Required
6x15 M6x20mm Not required
28x18 M8x28mm Required
8x18 M8x28mm Required
6x15 M6x20mm Not required
28x18 M8x28mm Required
8x18 M8x28mm Required
6x15 M6x20mm Not required
8x18 M8x28mm Required
8x18 M8x28mm Required
8x18 M8x28mm Required
8x18 M8x28mm Required
6x15 M6x20mm Not required
8x18 M8x28mm Required
8x18 M8x28mm Required

306kgf-cm/2997N-cm

Y-axis: IS(P)A

[2] Y-Z bracket

X-axis: IS(P)A

Y-axis: IS(P)A

Dedicated washer

[1] X-Y bracket

Hexagonal socket head bolt (4 pcs)

[Installation of Y-axis: IS(P)A on X-Y bracket [1]]

Configuration Par_allel Hexagonal Dedicated Tightening torque
type pin socket head bolt | washer

ICS(P)A-BA 6x15 M6x20mm Not required| 54.7kgf-cm/536N-cm
ICS(P)A-BB 6x15 M6x20mm Not required| 54.7kgf-cm/536N-cm
ICS(P)A-BC 8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BD 8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BE 8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BF 28x18 M8x28mm Required | 306kgf-cm/2997N-cm

| Remove the cover when installing the Z-axis. |

Hexagonal socket

head bolt (4 pes) [Installation of Z-axis: IS(P)A on Y-Z bracket [2]]

Configuration type |Parallel pin Hexar\]%(;zall)(sjlct)cket Washer Tightening torque
ICS(P)A-BAOMB1O | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BBOMB1O | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BBOHB1O | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BCOHB1O | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm

Dedicated washer| ICS(P)A-BCOHB20O | 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BCOHB30O | &8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BCOMB1O |  @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BCOMB20O | @8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BCOMB30 | @8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BDOHB10O | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BDOHB20O | 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BDOHB3O | 18x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOHB10O | &6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BEOHB20 | 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOOHB3O | &8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOIMB200 | 18x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOMB30O | &8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BFOHB1O 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BFOHB20O | ©@8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BFOHB30 | @8x18 M8x28mm Required 306kgf-cm/2997N-cm

* This assembly procedure applies to combination direction 1. If other combination direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.




ICS(P)A Cartesian Robot, 3-axis Configuration X-Y Base Mount (XYB) + Z-axis (Z-axis Base Mount) Type
ICS(P)A3-BOOOBOO-CT-SC X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Self-supporting Cable

Drawing No. | GMM08-010 2/3

o 1 | [14] Guide rail
Z-axis: ICS(P)A | | Flange-head hexagonal
1 socket head bolt

M4 x 6 mm

2l
Z~~_ Install the bolts before the

| [9] Box cover [14] Cable track assembly |

M3 x 12 mm (4 pcs) | ! M4 x 12 mm (4 pcs)

i + |
: I guide rail [14] is installed.
l |
. . | ) N
'l 1 ’ -
! M3 x 12 mm (4 pos) | \ ‘ : T TR
- ~o i . 1‘\ .‘ {J ‘.ﬁ‘
T I ~a? - % -
A N - : - s
i i Install the bolts by hooking
' Ball | The M4 hexagonal nut in the slot provided : i
Y-axis: ICS(P)A - ol serew cover : > on the side face of the X-axis, before the them in the holes in the
' . T ! | guide rail [14] is installed. The number of guide rail [14].
N i3> | - hexagonal nuts to be placed in the slot
= T~9 | varies according to the stroke.

| Hexagonal socket head bolt | _Tightening torque | [Installation of guide rail [14] on X-axis: IS(P)A]

. M3x12mm 5.51kgf-cm/54N-cm :

| M4x12mm 18kgf-cm/176N+-cm Flange-head hexagonal | ;

: I socket head bolt Tightening torque
| | M4x6mm 18kgf-cm/176N-cm

| [2] Box cover |

i M3 x 12 mm (4 pcs) |

[3] Connector box BA: M4 x 20 mm (2 pcs) + spacer
a BB to BF: M4 x 12 mm (2 pcs)

M6 x 8 mm (4 pcs)

[10] Cable track | "
i . i 20, iY-axis: IS(P)A

M3 x 12 mm (4 pcs) |

5] Joint cover

S [ N
I’fﬁ‘ ~ / | [3] Connector box

¢ M 1}
Se DN | h M5 hexagonal nut (3 pcs)

PN

| I
. To [1]X-Y bracket [7] Grommet with film
I

-

Follow “Instruction for Cable Track
Type Wiring (Drawing No. GMM12-001)”
for how to lay out the wiring inside a

[Installation of connector box [3] on X-Y bracket [1]] cable track.

! Configuration type so cl—li(?t(?%;gatlg olt Tightening torque I
i ICS(P)A-BA M4x20mm | 18kgf-cm/176N-cm | — ~
ICS(P)A-BB M4x12mm | 18kgf-cm/176N-cm .
X-axis: IS(P)A . | ICS(P)A-BC M4x12mm [ 18kgf-cm/176N-cm | | Cable track side !
M. -=7 . ICS(P)A-BD M4x12mm | 18kgf-cm/176N-cm . L= 4
i ICS(P)A-BE M4x12mm | 18kgf-cm/176N-cm |
ICS(P)A-BF M4x12mm 18kgf-cm/176N-cm

[Installation of box cover [2] on connector box [3]]

Q [10] Connector joint for cable inside

! Hexagonal socket head bolt | Tightening torque cable track and Y-axis cable

M3x12mm 5.51kgf-cm/54N-cm : Sz




ICS(P)A3-BOOOBONO-CT-SC

ICS(P)A Cartesian Robot, 3-axis Configuration X-Y Base Mount (XYB) + Z-axis (Z-axis Base Mount) Type

X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Self-supporting Cable

Flange-head hexagonal
socket head bolt
M4 x 8

s

[4] Connector box (medium)

[7] Joint cover (medium)

Drawing No. | GMM08-010 3/3
I
11 (112
I
i [3] Connector box
: Cable inside cable track
! X-axis: IS(P)A
| [3] Connector box
I
I x-axis: Is(P)A
M4 hexagonal nut _ BA: M4 x 14 mm (2 pcs) |
. =+ spacer -
‘ L BB to BF: M4 x 6 mm & o -
_avia- - -7
X-axis: IS(P)A " - . (2 pes) . Y
l\ @ Il X-axis: IS(P)A . I ' e
\ ,’ [3] Connector box l Controller-actuator . .
N P | cable : & 'I [5] Joint cover
S - \
D Al !
. ‘g |
. Hexagonal ) . | [8] Cable fix cap !
Configuration type socket hgead bolt Tightening torque . 'I [3] Connector box
ICS(P)A-BA M4x14mm | 18kgf-cm/176N-cm | [10] Connector joint for cable M3 x 12 mm (4 pcs)
Place two M4 hexagonal nuts in the slot provided on the side face of ICS(P)A-BB M4x6mm 18kgf-cm/176N-cm : inside cable track and
the X-axis before the connector box [3] is installed. ICS(P)A-BC M4x6mm 18kgf-cm/176N-cm | controller-actuator cable
ICS(P)A-BD M4x6mm 18kgf-cm/176N-cm :
ICS(P)A-BE Max6mm__| 18kgf-cm/176N-cm I Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”
ICS(P)A-BF Mdx6mm__ | 18kgf-cm/176N-cm : for how to lay out the wiring inside a cable track.
I
13 !
|14 el
pememTTT |
t(’ \\\ N .
,f' ) [5] Connector box (small) \‘\ I J/
,l ? \‘ - ”
i :—ﬁ# \ I !
N _:'—/ﬁ 1 . U
] ‘_-",// 1 e i
@ = Z-axis: ICS(P)A | '
T T = M4 x 8 mm (2 pcs) : . !
\ Rl hﬁ‘ ' : !
\ - / ' | 1
r .
\ . . | i Z-axis: ICS(P)A H
\ ’ exagona ) ) \
. B S socket head bolt Tightening torque : "
. . M4x8mm 18kgf-cm/176N-cm |
. [13] Box cover support ,f‘ :
. . . - |
e - - == ~_ , I
@ @ :

[14] Connector joint for cable
inside cable track and
controller-actuator cable

Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”
for how to lay out the wiring inside a cable track.




ICS(P)A Cartesian Robot, 3-axis Configuration X-Y Base Mount (XYB) + Z-axis (Z-axis Base Mount) Type

&Caution: ¢ Although each part has been chamfered to remove sharp edges, exercise due caution ! ) ) : , )
ICS(P)A3-BOOOBOO-SC-SC  X-axis/Y-axis: Self-supporting Cable, Y-axis/Z-axis: Self-supporting Cable

during the assembly to prevent injury. If necessary, wear gloves or other protective gears.

Exercise due caution during the assembly to prevent pinching of hands and fingers. Drawing No. | GMM08-0011 12
|
1 - 2
[Tools] Allen wrench = |
) . . . : Y-axis: IS(P)A
In the case of configuration direction types 2 to 4, (Reverse of type 1) |
the actuator and bracket directions are different. ' :
/ Thin-head screw (3V = I ] |
: Hexagonal socket 1 |
4+ head bolt (4 pcs) e [Installation of X-Y bracket [1] on X-axis: IS(P)A] :
1—-—-.___\_ I
High-tension washer = _ Confi%;atlon Parl)'ia:lllel Hexagonal bolt|High-tension| Tightening torque |:
. ICS(P)A-BA @6x15 | M6x30mm M6 54.7kgf-cm/536N-cm |
ICS(P)A-BB | @8x18 | M8x35mm M8 [306kgf-cm/2997N-cm|; 1] X-Y bracket
(Reverse of type 3) I
: ICS(P)A-BC 8x18 M8x35mm M8 306kgf-cm/2997N-cm |,
ICS(P)A-BD | @98x18 | M8x35mm M8 306kgf-cm/2997N-cm| | .
| Dedicated washer
ICS(P)A-BE &8x18 M8x35mm M8 306kgf-cm/2997N-cm :
ICS(P)ABF | @8x18 | M8x35mm M8 |306kgf-cm/2997N-cm|| Hexagonal socket head bolt (4 pcs)
[Installation of bracket cover [5] on X-Y bracket [1]] | X-axis: IS(P)A (nstallation of Y-axis: IS(PJA on X-Y bracket 1]
" : - i -axis: -
Configuration Thin-head screw | Tightening torque | - - -
) type . Configuration Par_allel Hexagonal Dedicated Tightening torque
Thin-head screw (3 pcs) ICS(P)A-BA M3x6mm 8.9kgf-cm/87.2N-cm | ICS:);[)): - ®2|n15 soc'\l;eét ggad bolt . \;vashgr e
- . . . X x20mm ot require .7kgf-cm, cm
Parallel pin (1 pc or 2 pcs) ICS(P)A-BB M3x6mm 8.9kgf-cm/87.2N-cm . - . - -
ICS(P)A-BC M4x6mm 20.8kgf-cm/204N-cm ICS(P)A-BB 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BD M4x6mm 20.8kgf-cm/204N-cm I ICS(P)A-BC 8x18 M8x28mm Required | 306kgf-cm/2997N-cm
Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin. Adjust the angle ICS(P)A-BE M4x6mm 20.8kgf-cm/204N-cm | ICS(P)A-BD &8x18 M8x28mm Required | 306kgf-cm/2997N-cm
between the X-axis and Y-axis to the right angle, and then mount the hexagonal bolts. ICS(P)A-BF M4x6mm 20.8kgfcm/204N-cm . ICS(P)A-BE ©08x18 M8x28mm Required | 306kgf-cm/2997N-cm
! ICS(P)A-BF 8x18 M8x28mm Required | 306kgf-cm/2997N-cm
I

| Remove the cover when installing the Z-axis. |

Hexagonal socket
[Installation of Y-Z bracket [2] on Y-axis: IS(P)A] | head bolt (4 pcs) [Installation of Z-axis: IS(P)A on Y-Z bracket [2]]

Configuration type Pa,;ﬁ]llel soci]'(Z)t(?l%::Jatl)olt Washer Tightening torque | Configuration type Pag;llel SO;Z’;?}%ZT!)O“ Washer Tightening torque
ICS(P)A-BAOMB10 26x15 M6x20mm Not required | 54.7kgf-cm/536N-cm | . ICS(P)A-BAOMB10 | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BBOMB10O 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm | ICS(P)A-BBOMB10 | &6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BBOHB1O 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm . F ICS(P)A-BBOHB1O | &6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BCOHB10O 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm | " " [2] Y-Z bracket ICS(P)A-BCOHB1O | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BCOHB20O &8x18 M8x28mm Required 306kgf-cm/2997N-cm . . ICS(P)A-BCOHB20O | 8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BCOHB3O | o8x18 M8x28mm Required | 306kgf-cm/2997N-cm | Dedicated washer oo oy  5eOHB3D | o8xis M8x28mm Required | 306kgf-cm/2997N-cm
Hexagonal socket ICS(P)A-BCOMB10 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm . 10 ICS(P)A-BCOMB10 | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
[2] Y-Z bracket head bolt (4 pcs) ICS(P)A-BCOMB20O 8x18 M8x28mm Required 306kgf-cm/2997N-cm | /',- ICS(P)A-BCOMB20O | @8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BCOMB3O 8x18 M8x28mm Required 306kgf-cm/2997N-cm | - THAL ICS(P)A-BCOMB3O | @8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BDOHB1O 26x15 M6x20mm Not required 54.7kgf-cm/536N-cm | 'f_':,, ICS(P)A-BDOHB1O | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BDOHB20O 8x18 M8x28mm Required 306kgf-cm/2997N-cm | - N ICS(P)A-BDOHB20O | 28x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BDOHB3O 8x18 M8x28mm Required 306kgf-cm/2997N-cm I ICS(P)A-BDOHB3O | @8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOHB10O 26x15 M6x20mm Not required 54.7kgf-cm/536N-cm . ICS(P)A-BEOHB1O | @6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BEOHB20O 8x18 M8x28mm Required 306kgf-cm/2997N-cm | ICS(P)A-BEOHB20 | &8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOHB3O 8x18 M8x28mm Required 306kgf-cm/2997N-cm : ICS(P)A-BEOHB3O | @8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOMB20O 8x18 M8x28mm Required 306kgf-cm/2997N-cm | ICS(P)A-BEOOMB20 | @8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BEOMB30 8x18 M8x28mm Required 306kgf-cm/2997N-cm | - ICS(P)A-BEOMB30 | &8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BFOHB10 6x15 M6x20mm Not required 54.7kgf-cm/536N-cm | ICS(P)A-BFOHB10O | &6x15 M6x20mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BFOHB20O 8x18 M8x28mm Required 306kgf-cm/2997N-cm : ICS(P)A-BFOHB20O | ©&8x18 M8x28mm Required 306kgf-cm/2997N-cm
ICS(P)A-BFO0HB3O 8x18 M8x28mm Required 306kgf-cm/2997N-cm | ICS(P)A-BFOHB30O | &8x18 M8x28mm Required 306kgf-cm/2997N-cm

* This assembly procedure applies to combination direction 1. If other combination direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.




ICS(P)A Cartesian Robot, 3-axis Configuration X-Y Base Mount (XYB) + Z-axis (Z-axis Base Mount) Type
ICS(P)A3-BOOOBONO-SC-SC  X-axis/Y-axis: Self-supporting Cable, Y-axis/Z-axis: Self-supporting Cable

Thin-head screw

N

M4 x 12 mm (4 pcs)

i [6] Grommet with film

Drawing No. | GMMO08-011 2/2
| |
5 : |7 M3 x 12 mm (4 pcs)
| | /
Z-axis: ICS(P)A I I 2

i [6] Box cover | : I e

= : M3 x 12 4 [4] Connector box (medium) : .- =
! X 12 mm (4 pcs) |

X-axis: IS(P)A [2] Box cover

[4] Connector box (large)

BA: M4 x 14 mm (2 pcs) + spacer
BB to BF: M4 x 6 mm (2 pcs)

i Y-axis: ICS(P)A i ;. [8] Joint cover H 0
. “M3x12mm Configuration type exagona Tightening torque
. - K socket head bolt
™~ I 0 I (4pcs) ICS(P)A-BA M4x20mm | 18kgf-cm/176N-cm
Y-axis: ICS(P)A Ball screw cover  : : ICS(P)A-BB M4x12mm | 18kgf-cm/176N-cm
o S 1 | [8] Joint cover (medium) | ICS(P)A-BC M4x12mm 18kgf-cm/176N-cm
et N : :| Place the M4 ICS(P)A-BD M4x12mm | 18kgf-cm/176N-cm
ﬁ:««‘i-‘_‘ | I nuts in the slot *~=<_ [7) Cable |__ICS(P)A-BE M4x12mm | 18kgf-cm/176N-cm
g9 : :| provided on the fix cap ICS(P)A-BF M4x12mm | 18kgf-cm/176N-cm
! Hexagonal socket head bolt | Tightening torque I side ,face of the o L
i M3x12mm 5.51kgf-cm/54N-cm i é‘j’é'sh:::;;? [9] Connector joint for cable inside
. M4x12mm 18kgf-cm/176N-cm | box (1arge) [4] is A\ g [ self-supporting cable assembly, X-axis
HE 9 WS cable and controller-actuator cable
| || installed. ~--
! 9
8 I M3 x 12 mm (4 pes) Z-axis: ICS(P)A
AT = Hexagonal socket head bolt Tightening torque :
7" M4x8mm 18kgf-cm/176N-cm |

M3 x 12 mm (4 pcs)

- -~

[5] Connector box (small) I [6] Box cover

I
1 . -
[+ . :
E & Z-axis: ICS(P)A | =
\ 7 . Ay
\ | I
\ =/ .
\ /! .
& ¢ |
L i Flange-head hexagonal | — . .
"\ﬁ . - Hexagonal socket head bolt < socket head bolt Tightening torque . . [8] Joint cover (small)
e 2 M4 x 8 mm ﬁ M4x8mm 18kgf-cm/176N-cm I -
[13] Box cover support |2 : A ~
3/ I ¥ AN
~ : P N
~. % \
% =5 ) | / s \\
. ~ 3 @ . i e \ ¢
~ e ' / P
P | / i )
| = . I
/ : : i \
Fl head h | 1 I I :
ange-head hexagona |
socket head bolt | Insert two M4 nuts. ‘\ ,‘J
M4 x 8 mm 1l I \ /
: \ /
\
1 / -
¥ I L # [14] Connector joint for cable
yﬁ | \\ I inside cable track and
Sge e controller-actuator cable




ICS(P)A Cartesian Robot, 3-axis Configuration X-Y Base Mount (XYB) + Z-axis (Z-axis Slider Mount) Type

&Caution: ¢ Although each part has been chamfered to remove sharp edges, exercise due caution ! ) ) : ! .
ICS(P)A3-BOOOSOO-SC-SC  X-axis/Y-axis: Self-supporting Cable, Y-axis/Z-axis: Self-supporting Cable

during the assembly to prevent injury. If necessary, wear gloves or other protective gears.

¢ Exercise due caution during the assembly to prevent pinching of hands and fingers.

Drawing No. [GMMO08-012 1/2

|
N 2

- I
:

(Reverse of type 1) I

1 [Tools] Allen wrench (3 pcs)

Y-axis: IS(P)A

In the case of configuration direction types 2 to 4,
the actuator and bracket directions are different.

/’ — !
Hexagonal socket } |
(Y-axis installed on -

opposite side) I

Thin-head screw

«— head bolt (4 pcs)

High-tension washer .

[Installation of X-Y bracket [1] on X-axis: IS(P)A] |

(Roverst ol oo 3) | | CONfiguration type | Parallel pin | Hexagonal bolt | High-tension Tightening torque [1] X-Y bracket
ICS(P)A-BA 26Xx15 M6x30mm M6 54.7kgf-cm/536N-cm |-
ICS(P)A-BB_ | @8x18 | M8x35mm M8 [306kgf-om/2997N-cm|| Dedicated washer
ICS(P)A-BC &8x18 M8x35mm M8 306kgf-cm/2997N-cm |-
ICS(P)A-BD | o8x18 | M8x35mm M8 |306kgf-cm/2997N-cm|| Hexagonal socket head bolt (4 pes)
ICS(P)A-BE &8x18 M8x35mm M8 306kgf-cm/2997N-cm|:
ICS(P)A-BF &8x18 M8x35mm M8 306kgf-cm/2997N-cm|| X-axis: IS(P)A
. ' [Installation of Y-axis: IS(P)A on X-Y bracket [1]]
[Installation of bracket cover [5] on X-Y bracket [1]] | Configuration Barallol Hexagonal Dodicated
Thin-head screw (3 pcs) Configuration type | Thin-head screw Tightening torque : type pin socket head bolt | washer Tightening torque
) ICS(P)A-BA M3x6mm 8.9kgf-cm/87.2N-cm I ICS(P)A-BA 26x15 M6x20mm Not required| 54.7kgf-cm/536N-cm
Parallel pin (1 pc or 2 pcs) ICS(P)A-BB M3x6mm 8.9kgf-cm/87.2N-cm | ICS(P)A-BB 26x15 M6x20mm | Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BC M4x6mm 20.8kgf+-cm/204N-cm . ICS(P)A-BC @8x18 M8x28mm Required | 306kgf-cm/2997N-cm
Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin. Adjust the angle ICS(P)A-BD M4x6mm 20.8kgf-cm/204N-cm | ICS(P)A-BD >8x18 M8x28mm Required | 306kgf-cm/2997N-cm
between the X-axis and Y-axis to the right angle, and then mount the hexagonal bolts. ICS(P)A-BE M4x6mm 20.8kgf-cm/204N-cm . ICS(P)A-BE 8x18 M8x28mm Required | 306kgf-cm/2997N-cm
ICS(P)A-BF Max6mm__ | 20.8kgf-cm/204N-cm | ICS(P)ABF | o8x18 | M8x28mm | Required | 306kgf-cm/2997N-cm
I
3 High-tension washer (4 pcs) | 4

c]

[ *Fs

0 (J [2] Y-Z bracket
Ol

Al
Qe ;
b, ;

[2] Y-Z bracket

J Hexagonal bolt 4 pcs

O‘] IS | Y-axis: ICS(P)A

Configuration type | Parallel pin | Hexagonal bolt Washer Tightening torque : ] l Parallel Hexagonal ) -
ICS(P)A-BAOMS1O | 26x15 M6x20mm Required | 54.7kgf-cm/536N-cm | Configuration type pin socket h%ad bolt | Washer Tightening torque
ICS(P)A-BBOHS10 26x15 M6x20mm Required 54.7kgf-cm/536N-cm : ICS(P)A-BAOMS10| @6x15 M6x28mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BBOMS 10 @6x15 M6x20mm Required 54.7kgf-cm/536N-cm | ICS(P)A-BBOHS1O| @6%x15 M6x28mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BCOHS30O 28x18 M8x28mm Required 306kgf-cm/2997N-cm : ICS(P)A-BBOMS10| @6x15 M6x28mm Not required | 54.7kgf-cm/536N-cm
ICS(P)A-BCOMS 100 26x15 M6x20mm Required 54.7kgf-cm/536N-cm | ICS(P)A-BCOHS30O| @8x18 M8x40mm Requ?red 306kgf-cm/2997N-cm
ICS(P)A-BCOMS30O 28x18 M8x28mm Required 306kgf-cm/2997N-cm : ICS(P)A-BCOMS10| @6x15 M6x28mm Required | 54.7kgf-cm/536N-cm
ICS(P)A-BDOHS10 26x15 M6x20mm Required 54.7kgf-cm/536N-cm I ICS(P)A-BCOMS30| @8x18 M8x40mm Required |306kgf-cm/2997N-cm
ICS(P)A-BDOHS30O @8x18 M8x28mm Required 306kgf-cm/2997N-cm : ICS(P)A-BDOHS1O| @6x15 M6x28mm Required | 54.7kgf-cm/536N-cm
ICS(P)A-BEOHS1O @6x15 M6x20mm Required 54.7kgf-cm/536N-cm ICS(P)A-BDOHS3O| @8x18 M8x40mm Required |306kgf-cm/2997N-cm
ICS(P)A-BEOHS3O 28x18 M8x28mm Required 306kgf-cm/2997N-cm I ICS(P)A-BEOOHS1O| @6x15 M6x28mm Required | 54.7kgf-cm/536N-cm
ICS(P)A-BFOMS10 6x15 M6x20mm Required 54.7kgf-cm/536N-cm ICS(P)A-BEOHS3O| @8x18 M8x40mm Required |306kgf-cm/2997N-cm
ICS(P)A-BFOMS30O 8x18 M8x28mm Required 306kgf-cm/2997N-cm I ICS(P)A-BFOMS10| @6x15 M6x28mm Required | 54.7kgf-cm/536N-cm
ICS(P)A-BFOHS10O 26x15 M6x20mm Required 54.7kgf-cm/536N-cm ! ICS(P)A-BFOMS30O| @8x18 M8x40mm Required |306kgf-cm/2997N-cm
ICS(P)A-BFOHS3O 8x18 M8x28mm Required 306kgf-cm/2997N-cm I ICS(P)A-BFOHS1O| @6x15 M6x28mm Required | 54.7kgf-cm/536N-cm

i ICS(P)A-BFOHS3O| @8x18 M8x40mm Required | 306kgf-cm/2997N-cm




ICS(P)A Cartesian Robot, 3-axis Configuration X-Y Base Mount (XYB) + Z-axis (Z-axis Slider Mount) Type
ICS(P)A3-BOOOSOO-SC-SC  X-axis/Y-axis: Self-supporting Cable, Y-axis/Z-axis: Self-supporting Cable

Drawing No. | GMM08-012 2/2

[6] Box cover

Hexagonal bolt

I M3 x 12 mm (4 pcs)

[4] Connector box (medium)

! M4 x 12 mm (4 pcs)
Z-axis: ICS(P)A I x\
Configuration type |Parallel pin| Hexagonal bolt Washer Tightening torque I
ICS(P)A-BAOMS10 26x15 M6x20mm Required 54.7kgf-cm/536N-cm
ICS(P)A-BBOHS10O 26x15 M6x20mm Required 54.7kgf-cm/536N-cm I M3 x 12 mm (4 pcs)
ICS(P)A-BBOMS10 26x15 M6x20mm Required 54.7kgf-cm/536N-cm .
ICS(P)A-BCOHS3O 28x18 M8x28mm Required | 306kgf-cm/2997N-cm |
ICS(P)A-BCOMS10 26x15 M6x20mm Required 54.7kgf-cm/536N-cm .
ICS(P)A-BCOMS30O 28x18 M8x28mm Required 306kgf-cm/2997N-cm | Y-axis: ICS(P)A 5
Y-axis: ICS(P)A ICS(P)A-BDOHS1O | @6x15 M6x20mm Required | 54.7kgf-cm/536N+-cm . -
ICS(P)A-BDOHS3O 8x18 M8x28mm Required 306kgf-cm/2997N-cm | r%
ICS(P)A-BEOHS10O 26x15 M6x20mm Required 54.7kgf-cm/536N-cm : /‘\
ICS(P)A-BEOIHS30O 28x18 M8x28mm Required | 306kgf-cm/2997N-cm |
ICS(P)A-BFOMS10 6x15 M6x20mm Required 54.7kgf-cm/536N-cm : [1] X-Y bracket
L ICS(P)A-BFOMS30 | @i8x18 M8x28mm Required | 306kgf-cm/2997N-cm | [8] Joint cover (medium)
g ICS(P)A-BFOHS10 26x15 M6x20mm Required 54.7kgf-cm/536N-cm .
- ICS(P)A-BFOHS30O 8x18 M8x28mm Required 306kgf-cm/2997N-cm |
: Hexagonal socket head bolt | Tightening torque
! M3x12mm 5 51kgf-cm/54N-cm
i M4x12mm 18kgf-cm/176N-cm
I
7 M3 x 12 mm (4 pcs) ;| 8

/

_ Z-axis: ICS(P)A

[5] Connector box

X-axis: IS(P)A [2] Box cover |

[6] Grommet with film | [6] Box cover b

&,
[4] Connector box (large) . \“’f

[®

BA: M4 x 14 mm (2 pcs) + spacer :
BB to BF: M4 x 6 mm (2 pcs) |

Configuration type so ciz)t(i%%rt]jakl) olt Tightening torque I
ICS(P)A-BA M4x20mm 18kgf-cm/176N-cm .
ICS(P)A-BB M4x12mm 18kgf-cm/176N-cm |
ICS(P)A-BC M4x12mm 18kgf-cm/176N-cm :
Place the M4 ICS(P)A-BD M4x12mm 18kgf-cm/176N-cm | M3 x 12 mm (4 pcs)
nuts in the slot ICS(P)A-BE M4x12mm 18kgf-cm/176N-cm : .
provided on the |CS<P)A-BF M4x12mm 18kgf'Cm/176N'Cm I ) [9] Joint cover (small)

side face of the [7] Cable fix cap

X-axis, before
the connector .
.b°): (Illa?e) [4]is \ [9] Connector joint for cable inside I
instated. \N\EF T self-supporting cable assembly, X-axis :
~==" cable and controller-actuator cable |

[18] Connector joint for cable
inside cable track and
‘ controller-actuator cable

i —




& Caution: e Although each part has been chamfered to remove sharp edges, exercise due caution ICS(P)A Cartesian Robot, 3-axis Confi_guratio_n.XYG (Gantry) Type. .
during the assembly to prevent injury. If necessary, wear gloves or other protective gears. | [/CS(P)A3-GOOOBODO-CT-CT  X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Cable Track

o Exercise due caution during the assembly to prevent pinching of hands and fingers. Drawing No. |GMMO08-013 13
I
1 -2 Hexi%%réatl,glct)cket Dedicated washer Tightening torque
[Parallel pin (@38 x 18) x 2 pcs]| |
: M8x45mm (8 pcs) Required 117kgf-cm/1148N-cm
| / [Installation of X-Y bracket (1) [1] on X-axis: IS(P)A]
! [1] X-Y bracket * % / Flat washer

X-axis: IS(P)A
X-axis: IS(P)A

e e e e e ke ket ke ek ke kst kst — [P o e e e R R R R -
: : [Installation of space [4] on gantry]
3 | 4 | 5 H | socket
] exagonal socke ) .
: : 3 H 3 head bolt Tightening torque
| | . T M6x45mm (4 pcs) | 57.4 kgf-cm/536N-cm
. . ; AT .
i | # : — [4] Spacer
! I 26 x 15 mm
i | parallel pin (2pcs)
I I
I I
: : | Gantry
[1] X-Y bracket (;,./
: N I I . I:/
) I I
. __”1 : :
. 'f’ | ﬂ H | socket
. . exagonal socke ) .
X-axis: IS(P)A : Flange-head | | i head bolt Tightening torque
‘T ~ M4 x 6 mm [8] Box cover . in 57.4 kgf-cm/536N-cm
]

| ?i [Installation of pin bracket [3] on spacer [4]]
'
'
. i )
M4 x 10 mm I \
i
I

I

| I

| I

LT TN [Cable track assembly| : :

; AN\ | I

: - : : [10] Connector box -

A p ! I I
@ s

oo . M3 x 12 mm (4 pos) | :

Gantry

Flange-head hexagonal

socket head bolt Tightening torque

Insert the M4 nuts beforehand.| Max6mm 18kgf-cm/176N-cm

M4x10mm 18kgf-cm/176N-cm I |




ICS(P)A Cartesian Robot, 3-axis Configuration XYG (Gantry) Type
ICS(P)A3-GOOOBOO-CT-CT X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Cable Track

Drawing No. | GMMO08-013 2/3

[3] Pin bracket

Gantry

Thin-head screw

Y-axis: IS(P)A

[2] X-Y bracket

These 2 pieces

Hexagonal socket
have been deleted.

head bolt

Tightening torque

M8x30mm (6 pcs)| 54.7 kgf-cm/536N-cm

Y-axis: IS(P)A

[11] Cable track

X-axis: IS(P)A - ~<.

- Cable inside cable track\\\

[3] Connector box (large)

\
N, ' !
10 N | ? !
t. 1 T 1
AN \ ]

[8] Box cover . (e s wl h

7] Connector box (small . v Controller- } . ,

7 ( ) N .. \, actuator cable 3 &7 /)

‘\4 /

[11] Connector joint for .
cable inside cable track
and controller-actuator
cable el

N < oy, Follow “Instruction for Cable Track
& M i B3 7 Type Wiring (Drawing No.
R ’ - > GMM12-001)” for how to lay out
* ’ the wiring inside a cable track.
4 ' . i h-.', /) .
B F !
/ > N !' :' \'.
) 1 N
-1 1 .~
M3 x 12 mm y J i N,
’ : N
4 \ .
[9] Joint cover ‘ﬁ?‘ \\ Q ’ N, .
- g ¢ . Connector joint for N,
T actuator cable and cable N
T inside cable track -
Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)” Sso R . \~,
for how to lay out the wiring inside a cable track. ‘\\_ JPtas N




ICS(P)A Cartesian Robot, 3-axis Configuration XYG (Gantry) Type
ICS(P)A3-GOOOBOO-CT-CT X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Cable Track

GMMO08-013 3/3

Drawing No.

13

. Z-axis: ICS(P)A \{“\
. -P"-\
! Parallel pin (1 pc)

11 12 14

Hexagonal socket

%A-'j- F<head bolt (4 pcs) |

Flat washer |

[5] Y-Z bracket |

Y-axis: ICS(P)A

Hexagonal socket |
head bolt (4 pcs) :

[6] Y-Z plate |

Tightening torque | |

Configuration type |Parallel pin|Hexagonal bolt| Flat washer | Tightening torque Configuration type | Parallel pin | Hexagonal bolt Tightening torque Configuration type |Parallel pin|Hexagonal bolt| Washer
ICS(P)A3-G1(2)JHB1| @8x18 M8x30mm M8 54.7kgf-cm/536N-cm | : | ICS(P)A3-G1(2)JHB1 6x15 M6x20mm 54.7kgf-cm/536N-cm | . | ICS(P)A3-G1(2)JHB1| @6x15 M6x18mm | Dedicated | 54.7kgf-cm/536N-cm | :
ICS(P)A3-G1(2)JHB2| @8x18 M8x30mm M8 306kgf-cm/2997N-cm ICS(P)A3-G1(2)JHB2 @8x18 M8x20mm 306kgf-cm/2997N-cm ICS(P)A3-G1(2)JHB2| @8x18 M8x28mm | Dedicated | 306kgf-cm/2997N-cm |
ICS(P)A3-G1(2)JHB3| @8x18 M8x30mm M8 306kgf-cm/2997N-cm | . | ICS(P)A3-G1(2)JHB3 8x18 M8x20mm 306kgf-cm/2997N-cm | . |ICS(P)A3-G1(2)JHB3| @8x18 M8x28mm | Dedicated | 306kgf-cm/2997N-cm| :
I I I
15 - (16

i M6 x 10 mm (4 pcs)

M4x6
The number of bolts
varies according to RS
the Y-axis stroke. e

M4 x 10 mm (2 pcs)
[8] Mounting bracket (2!)

[18] Connector joint for cable
i inside cable track and :

: controller-actuator cable !
| |
. ]
. h

| Follow “Instruction for Cable Track v I
Type Wiring (Drawing No. GMM12-001)” y "

1 : | for how to lay out the wiring inside a e o
I M6 nut (4 pcs) ' ! cable track. sl I
. I o o =




& Caution: e Although each part has been chamfered to remove sharp edges, exercise due caution
during the assembly to prevent injury. If necessary, wear gloves or other protective gears.
o Exercise due caution during the assembly to prevent pinching of hands and fingers.

ICS(P)A Cartesian Robot, 3-axis Configuration X-Y (Gantry) + Z Type
ICS(P)A3-GOOOSOO-CT-SC  X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Self-supporting Cable

1
[Parallel pin (@8 x 18) x 2 pes]
X-axis: IS(P)A
e e e e e e e e e e e e — o =l
3 I 4
I
|
|
I
|
I
[1] X-Y bracket |
w\ .
N :
) I
- ".’l :
7 l
X-axis: IS(P)A Flange-head |

"T-n M4 x 6 mm

M4 x 10 mm I

I
I
Lot TN [Cable track assembly| :
’ s B
{2 |
\ ~ 1
Y o/ |
So_@ L M3 x 12 mm (4 pcs) |

Flange-head hexagonal
socket head bolt

Insert the M4 nuts beforehand.| Max6mm 18kgf-cm/176N-cm
M4x10mm 18kgf-cm/176N-cm

Tightening torque

Drawing No. | GMM08-014 1/4
Hexi%%gaégﬁ‘:ket Dedicated washer Tightening torque
M8x45mm (8 pcs) Required 117kgf-cm/1148N-cm

[1] X-Y bracket

/ [Installation of X-Y bracket (1) [1] on X-axis: IS(P)A]
* * P Flat washer

X-axis: IS(P)A

5 [Installation of space [4] on gantry]

g Hexagonal socket head
< | bolt
- M6x45mm (4 pcs)  |57.4 kgf-cm/536N-cm

1—5— [4] Spacer

Tightening torque

@6 x 15 mm
i~ parallel pin (2pcs)

| Gantry

M3 x 12 mm (4 pcs)

Hexagonal socket
head bolt

M6x35mm (4 pcs) | 57.4 kgf-cm/536N-cm

Tightening torque

[8] Box cover

gi [Installation of pin bracket [3] on spacer [4]]
i
: '
::
. [3] Pin bracket
!
I

[10] Connector box

M4 x 12 mm (2 pcs)

Gantry




ICS(P)A Cartesian Robot, 3-axis Configuration X-Y (Gantry) + Z Type
ICS(P)A3-GOOOSOO-CT-SC  X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Self-supporting Cable

Drawing No. |GMMO08-014 2/4

2 pcs) : :
! I 8 (2 pes) i These2pieces : Hexagonal socket| ..oy o
6 | 7 . o, ihave been deleted.: head bolt g g torq

M8x30mm (6 pcs)| 54.7 kgf-cm/536N-cm

[2] X-Y bracket
[3] Pin bracket |

Y-axis: IS(P)A

[11] Cable track

I I
| |
: 7 !
| < > N
: 2 . : X-axis: IS(P)A et T -
| I .7 ..
: X-axis: IS(P)A : L Cable inside cable track > _
Gantry I I R [31 Connector box (large) s
. ! , .
| | / .
4 \
. ’ AY
. 7
I I C \
. K X-axis: IS(P)A N
: | )
e e e e — [ N : ‘ ‘|
9 - 110 N ' :, A :
! N \ o '
. . \ ~ '
[7] Connector box (small) . v Controller- ] S ,
I N \, actuator cable & K
i ‘,ﬁ K
3 - 7/
. : [8] Cable fixcap  111] Connector joint for
LS | - cable inside cable e

track and controller- _-
actuator cable .-~

: \\\, Follow “Instruction for Cable Track
I “UN Type Wiring (Drawing No. GMM12-
. A "\ 001)” for how to lay out the wiring

| - Y, . | inside a cable track.

. | \ N\

.\'
| / N,
. ! .
Y-axis: IS(P)A | [9] Joint cover Q )/ \..
! T Connector joint for N,
i Pt actuator cable and cable N
: inside cable track -
- Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)” LT \..
|| for how to lay out the wiring inside a cable track. - - i N,




ICS(P)A Cartesian Robot, 3-axis Configuration X-Y (Gantry) + Z Type
ICS(P)A3-GOOOSOO-CT-SC  X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Self-supporting Cable

Drawing No. [GMMO08-014 3/4

1 - (12 - 113

Hexagonal socket I I '.‘
head %olt (4 pcs) . : Cable track assembly V

Z-axis: ICS(P)A

| i

Flat washer

[5] Y-Z bracket I
: [ —————Parallel pin (1 pc)

Y-axis: ICS(P)A |

Flange-head
| M4 x 6

: The number of bolts | = 1
| | varies a(_:cording to ' :
i i : B . the Y-axis stroke. I ‘
Configuration type | Parallel pin | Hexagonal bolt | Flat washer | Tightening torque | - Configuration type | Parallel pin Hexagonal Tightening torque : L. ""“‘7‘-—‘_| Insert M4 nuts beforehand.
ICS(P)A3-G1(2)JHB1 8x18 M8x30mm M8 54.7kgf-cm/536N-cm | socket head bolt | ST
ICS(P)A3-G1(2)JHB2 | @8x18 M8x30mm M8 306kgf-cm/2997N-cm| - ICS(P)A3-G1(2)JHB1 | @6X15 M6x25mm 54.7kgf+-cm/536N-cm :
ICS(P)A3-G1(2)JHB3 | @8x18 M8x30mm M8 306kgf-cm/2997N-cm I ICS(P)A3-G1(2)JHB2 | 8x18 M8x30mm 306kgf-cm/2997N-cm I
: ICS(P)A3-G1(2)JHB3 &8x18 M8x30mm 306kgf-cm/2997N-cm :
| |
I |

M4 x 10 mm (2 pcs) |

Mounting bracket (2) / :
I

Hexagonal socket head bolt| Tightening torque |
M4x10mm 18kgf-cm/176N-cm

M4 x 10 mm (2 pcs) [12] Box cover

M4 nut [10] Connector box




ICS(P)A Cartesian Robot, 3-axis Configuration X-Y (Gantry) + Z Type
ICS(P)A3-GOOOSOO-CT-SC  X-axis/Y-axis: Cable Track, Y-axis/Z-axis: Self-supporting Cable

Drawing No.

GMMO08-014

4/4

17

S1: M4 x 40 mm
S2/S3: M4 x 16 mm

[10] Connector box

[11] Joint cover M3 x 12 mm (4 pcs)

[13] Connector joint for cable ¢ &
inside cable track and ’\ [12] Box cover

controller-actuator cable M3 x 12 mm (4 pcs)

Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”
for how to lay out the wiring inside a cable track.




& Caution: e Although each part has been chamfered to remove sharp edges, exercise due caution during the

assembly to prevent injury. If necessary, wear gloves or other protective gears.
o Exercise due caution during the assembly to prevent pinching of hands and fingers.

ICS(P)A Cartesian Robot, 2-axis Configuration XYB (Y-axis Base Mount) Type
ICS(P)A2-B(K,L,PQ)O0O-CT Cable Track

Drawing No.

112

GMMO09-002

1 |
1 i 2 In the case of configuration direction types 2 to 4, the i
[Tools] Allen wrench | s ) |
: actuator and bracket directions are different. p
ﬁ' _Hexagonal socket | |
& _‘// head bolt (4 pcs) I I
High-tension washer : _ B Hexagonal full thread bolt (4 pcs) (Rype” :
| i E ,-"//., High-tension washer ' |
: L :
I = |
[1]X-Y plate — . | .
! | |!
- Parallel pin (2 pCS) I (c:;()-:::tt‘anssi(:!)ed on i
: = - -
I M 3 I
! ’
p | Reverseoftype 3) .
I |
I L |
. Note: To ensure squareness between the X-axis and| :
X-axis: IS(P)A  — | % - Y-axis, insert one parallel pin. Adjust the angle |
. e between the X-axis and Y-axis to the right :
g | E angle, and then mount the hexagonal bolts. l
[Installation of XY bracket [1] on X-axis: IS(P)A] | [Installation of XY bracket [2] on X-axis: IS(P)A] |
Parallel pin |Hexagonal bolt High-tension Tightening torque | ‘ Parallel pin |Hexagonal bolt High-tension Tightening torque |
$8x18 M8x40mm M8 306kgf-cm/2997N-cm | | | ¢8x18 M8x35mm M8 306kgf-cm/2997N-cm | |
................................................... Jr e s s s ]
4 ‘| 5 Install the bolts by .
I hooking them in the holes |
Hexagonal socket | in the guide rail (1) [12]. ]
head bolt (4 pcs) . End face of base (excluding cover) s
: Align the edge surface of the guide rail.i
,&\ / I 1
w. | I
P | |
i I X-axis: IS(P)A [12] Guide rail (1) i
i M4 hexagonal nut ““"':::éf 2 :
~ [2] X-Y bracket I o % “‘é:.: I
= i l 3 /ﬁ‘ p ' H I socket head bolt I
Parallel pin (2 pcs) : . [*2,(;: ¢ r‘t) . M4 hexagonal nut lexagonal socket head bol .
i 9 |
. \ k7 4 ! -
. \ b Il .
S 2 I
X-axis: IS(P)A RS s

Y-axis: IS(P)A

[Installation of Y-axis IS(P)A on [2] X-Y bracket]

Parallel pin Hex?]%(;réatl)gﬁCket Tightening torque
$8x18 M8x30mm 306kgf-cm/2997N-cm

Install the bolts before the
guide rail (1) [12] is installed.

Place the M4 hexagonal nuts in the upper
slot provided on the side face of the X-axis,
before the guide rail (1) [12] is installed.
The number of hexagonal nuts to be
placed varies according to the stroke.

[Installation of guide rail (1) [12] on X-axis: ICS(P)A]

Hexagonal socket
head bolt

I M4:10mm

‘ Tightening torque ‘

I 18kgf.cm/176N-cm I

X-axis: ISP)A —§

~ Thin-head screw
" (6pcs)

__—[3] Bracket cover

\

[Installation of bracket cover [3] on X-Y bracket [2]]

Thin-head screw Tightening torque

M4=5mm

| 20.8kgf-cm/204N-cm

# _ [4] Grommet

[5] Track mounting
‘;‘,/:‘.\;,.(: “bracket

Hexagonal socket
head bolt (2 pcs)

[Installation of track mounting bracket [5] on X-Y plate [1]]

Hexagonal socket
head bolt

M5=12mm

Tightening torque

34.9kgf-cm/342N-cm

This assembly procedure applies to combination direction 1. If other combination direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.




ICS(P)A Cartesian Robot, 2-axis Configuration XYB (Y-axis Base Mount) Type
ICS(P)A2-B(K,L,PQ)OO-CT Cable Track
Drawing No. | GMMQ09-002 212

| | Y-axis: IS(P)A
| 8 ‘19 [6] Cable track

) Hexagonal socket head bolt . . Hexagonal socket head bolt .
Y-axis: IS(P)A : Y-axis: IS(P)A <
) (4 pcs) M6 x 10 mm [6] Cable track I (P) (2 pcs) M4 x 5 mm l

i | Te-mount kRsGS /?

Flat washer

o = \ )
s I | X-axis: IS(P)A [5] Track mounting .
[5] Track mounting () : : bracket Thin-head (4 pcs)
bracket [ N [12] Guide rail | | P
- g S P2
i ] 5\ F
! I A ,J \\ 'r : "
¥ . h L | H
Heanonal P | | Py “L.@j Follow “Instruction for Cable Track Type
. - Lo : Wiring (Drawing No. GMM12-001)” for
(4 pes) M6 x 12 mm | | I\@® how to lay out the wiring inside a cable
T : : : track.
-axis: 1S(P) | 7 Tie-mount KR5G5 |
M6 hexagonal nut (8 pcs) - X-axis: IS(P)A * Used to install the cable. . Tt
Connector joint for Y-axis cable and
! | cable inside cable track [6]
i | [Installation of metal cover [7] on track mounting bracket [5]]
I | ‘ Thin-head screw I Tightening torque ‘
I | ‘ M3x4dmm ‘ 8.47kgf-cm/83N-cm ‘
e e e e =" o e s A e e e A R R R e e e S S e T R T i I
10 I 1 I 12
_axis: . Y-axis: IS(P)A i
Y am\s. IS(P)A [6] Cable track / | |
AN
T f /,/“4/ - : . Y-axis: IS(P)A
I I
I I
i : [12] Guide rail (2)
/ 4] Grommet : I / Install the cable
| | onto the tie-

mount KR5G5.
| — =

§ [12] Guide rail (2) =
=~ [11] Box cover | !

7
| [13] Cable track
: Hexagonal socket head bolt .-~
| (8 pcs) M6 x 10 mm T
Flat washer (4 pcs)

SR i "~ [10] Joint cover . Hexagonal socket
istance between the F ey .

base edge surface to i = .‘ 4 I head bolt (4 pcs)
connector box edge o ',-"f 3 - ~.._ Hexagonal socket head bolt .

surface f'?:’. B],‘ “a.‘_“ B (3 pcs) M4 x 6 =

Install the connector box 9 c tor b |

[6]in T slot on top slot of @ '<'-“ [ ] onnector box -
the X-axis side surface.

™ Hexagonal socket head bolt (8 pcs) |
[8] Cable fix cap

[Installation of connector box [9] on X-axis: IS(P)A] I X-axis: IS(P)A l
Hexagonal sockethead bolt | Tightening torque ! [Installation of guide rail (2) [12] on X-Y bracket [2]] |
M4x6mm 18kgf-em/176N-cm | Hexagonal socket : _ I
[Installation of connector box [9] on box cover [11]] : head bolt Ul eI :
Hexagonal socket head bolt Tightening torque I M4=10mm 18kgf-cm;‘1 76N cm ] Follow “Instruction for Cable Track Type Wiring (Drawing No. GMM12-001)”
M3x12mm 8.47kgf cm/83N.cm | ] for how to lay out the wiring inside a cable track.

*

This assembly procedure applies to combination direction 1. If other combination direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.



/I\ Caution: e Although each part has been chamfered to remove sharp edges, exercise due caution during the ICS(P)A Cartesian Robot, 4-axis Configuration XYB (Y-axis Base Mount) Type

| 2 Hexagonal socket head bolt
(8 pcs) M6 x 10 mm

assembly to prevent injury. If necessary, wear gloves or other protective gears. ICS(P)A4-BOOHZRO-CT-CT  Cable Track
e Exercise due caution during the assembly to prevent pinching of hands and fingers. Drawing No. | GMM09-003 1/1
1 [For the Y-X-axis assembly, refer to Assembly l > I 3
[Tools] Allen wrench Procedures [GMMO08-004].] I |
! ) [2] Box support (M) (S) I
| T~ |
| B
| ‘ [ )
. ; | ’:_-.-’h'u ; {H
Y-axis: IS(P)A | - i Lrl | Y-axis: IS(P)A
| [~ i [
| T |
Parallel pin (2 pcs) | By | o
Z > - \ .
| I - - Hexagonal socket head | E -
_ - [1] YZR (M) (S) plate ; e bolt (4 pes) ! - = o o
v Hexagonal socket head l I ':-...-\‘ o e
bolt (4 pcs) v b Hexagonal socket head
% | = | / ” bolt (4 pcs)
X-axis: IS(P)A | | X-axis: IS(P)A
[Installation of YZR (M) (S) plate [1] on Y-axis: IS(P)A] | [Installation of box support (M) (S) [2] on ZR-axis] | [Installation of ZR on YZR (M) (S) plate [1]]
s . - Hexagonal socket . : : ; Hexagonal socket : ;
Configuration type Parallel pin h%ad bolt Tightening torque I Hex?]%c;r:jallxs)ﬁcket Tightening torque | Configuration type Xh%ad bolt Tightening torque
ZR-S $6x15mm M6x20mm 54.7kgf-cm/536N-cm | | M5x10mm 34.9kgf.cm/342N.cm | ! ZR-S M6x20mm 54.7kgf-cm/536N-cm
ZR-M $6xT15mm MB8x25mm 117kgf-cm/1148N-cm | | | ZR-M M8x25mm 117kgf-cm/1148N-cm
i |
T e e s e T l ............................................ s e e e
4 5 ‘1 6
I I
\ ! N
i I X-axis: IS(P)A [5] Cable track .
/,_,_d. o : . \ \ Roaxis Same on the
s ) | | 2\~ = / moving-end side
g Hexagonal socket | ~ . "~ J7 | ¥k 2 T o 5
: head bolt (2 pcs) . : &
ZR-axis o ‘ . o pedhotiche :
Y-axis: IS(P)A e M4 hexagonal nut foge | [5] Cable track s
Lo = - ol b 4 TR . A r—
- . v » v . Secure the cables using tie-
/ ~d | 7 mounts, convex bases (provided
1™~ - : ~ : 4 by the customer), etc.
/ [3] Cable track support/l i T - . N
X-axis: IS(P)A 3 o @
‘/

: M6 hexagonal nut (8 pcs) 30N .

Flange-head hexagonal k. WA e
Install the hexagonal nut on the hexagonal socket head Sock%t P bo,? e S Common to Y-axis: IS(P)A g N "
bolt and then insert the nut in the lower slot of the Y-axis. . | ZRMands i Nl Y
- : ¥ ":@g :

[Installation of cable track support [3] on Y-axis: IS(P)A]

i [Installation of connector box Y-Z [4] on box support (M) (S) [2]) |

. . Follow “Instruction for Cable Track Type Wiring .
| Flange-head hexagonal socket head bolt ‘ Tightening torque ‘ : Hexagonal socket ‘ T T e ‘ | (Drawing No. GMM12-001)" ﬁglr:jr;eg;%rléotlpz:cflfrai%b;R N
| Mdx10 ‘ 18.0kaf-cm/176N-cm ‘ | head bolt ! for how to lay out the wiring inside a cable track. axis and Y-axis cables
= Tumm 4 : 1 ! .
g i | Md4x6mm | 18.0kgfcm/176N-cm | i

*

This assembly procedure applies to combination direction 1. If other combination direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.



Instruction for Cable Track Type Wiring

Drawing No. | GMM12-001

1M

Cable track specification

Option model code cT

Cable track model code TKP0450W38

The parts content should be the same for the both cable tracks between X and Y and between Y and Z.
However, for the construction with no connector box on the moving end, the same cable clamp as one on the

fixed end should also be used on the moving end.

Cable track TKP0450W38

M6 x12 hex socket head cap screw (4pcs)

Connector box
(the type with ¢4 hole added)

Guide rail

M6 x 10 hex socket head cap screw (4pcs)

Cable track specification

Option model code CT™ CTL CTXL

Cable track model code TKP0450W58 | TKP0450W78 | TKP0450W108

Cable track TKP0450W58/W78/W108

M6 x 12 hex socket head cap screw (4pcs)
M6 plain washer (4pcs)
M6 hexagon nut (4pcs)

Connector box
(the type with 4 hole added)

M6 plain washer (2pcs)

1080755*: cable clamp 3

M3 x 5 hex socket head cap screw (2pcs) O

M6 x 10 hex socket head cap screw (2pcs)

£ 2/
M6 hexagon nut (4pcs)/@

Installation of cable track

For the type of X axis SMX (BA** Type),

the parts on{"} area is as shown below.

e M6 x 10 hex socket head cap screw (2pcs)
e M6 x 8 hex socket head cap screw (2pcs)
o No M6 plain washer

(Fixed end)

Put a cable band through the comb teeth and the hole, and affix the cables in a pair.

Cable Wiring and Fixation

1080754*: cable clamp 2 <
s =
=
i
M6 x 10 hex socket head cap screw (2pcs) S
M6 plain washer (2pcs) i For the type pf__X axis SMX (BA** Type),
@ : ) the parts oni__} area is as shown below.

o M6 x 8 hex socket head cap screw (2pcs)
e No M6 plain washer

M6 hexagon nut (4pcs)ﬁ

Installation of cable track

Cable band

(Fixed end)

Put a cable band through the holes, and affix the cables in a pair.
(Same as W38 on the moving end)

Cable Wiring and Fixation

Caution

* Avoid piling up a cable onto another or have cables running across each other, and
have the cables laid out straight in parallel.

e Basically, M cables and PG cables should be separated in each bunch.

» When affixing the cables on the moving end and fixed end, gather the cables on the
inner side of the cable track, and have enough play on the cables that would not
apply tension to them when the cable track is moved for the swing stroke.

Also, make sure the cables are not twisted.





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /PageByPage
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Arial-Black
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialRoundedMTBold
    /ArialUnicodeMS
    /MS-Gothic
    /MS-Mincho
    /MS-PGothic
    /MS-PMincho
    /SymbolMT
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 600
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 600
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /SyntheticBoldness 1.000000
  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /KOR <FEFFd5a5c0c1b41c0020c778c1c40020d488c9c8c7440020c5bbae300020c704d5740020ace0d574c0c1b3c4c7580020c774bbf8c9c0b97c0020c0acc6a9d558c5ec00200050004400460020bb38c11cb97c0020b9ccb4e4b824ba740020c7740020c124c815c7440020c0acc6a9d558c2edc2dcc624002e0020c7740020c124c815c7440020c0acc6a9d558c5ec0020b9ccb4e000200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /CHS <FEFF4f7f75288fd94e9b8bbe7f6e521b5efa76840020005000440046002065876863ff0c5c065305542b66f49ad8768456fe50cf52068fa87387ff0c4ee563d09ad8625353708d2891cf30028be5002000500044004600206587686353ef4ee54f7f752800200020004100630072006f00620061007400204e0e002000520065006100640065007200200035002e00300020548c66f49ad87248672c62535f003002>
    /CHT <FEFF4f7f752890194e9b8a2d5b9a5efa7acb76840020005000440046002065874ef65305542b8f039ad876845f7150cf89e367905ea6ff0c4fbf65bc63d066075217537054c18cea3002005000440046002065874ef653ef4ee54f7f75280020004100630072006f0062006100740020548c002000520065006100640065007200200035002e0030002053ca66f465b07248672c4f86958b555f3002>
    /JPN <FEFF000d>
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [1369.134 932.598]
>> setpagedevice


